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MDE/D-16 4060-S

MANAGEMENT CONCEPTS AND
ORGANISATIONAL BEHAVIOUR
Paper : MC-501

DDE :80

Time : Three Hours] [Maximum Marks :
Reappear : 100

Note : Question No. 1 is compulsory. It carries 2 marks each.

Attempt any four questions and each question carries
15 marks.

N nﬁﬁg_ﬁwm&w.ﬁﬁuﬂﬂﬁ:w%ﬂﬁ?%
a3 | § f R v @ SW AT, o T
15 3= F1 2

Compulsory Question
(e uyw)

1. (a) Integrative management perspective.

(b) Group Development.

(¢) Theory Y.

(d) Sources of Organizational Conflicts.

(e) Resistance to Change.

(f) Transactional Analysis and Communication.

(g) External Factors Influencing Perception.

4060-S/900/KD/660/Trans. [PTO.



(h) Importance of Attitude.

(i) Directing as a function of Management.
() Alderfer's ERG theory.

(F) THlPpd JauA|

(@) wrfew fawm ghesto

(m Y fEgial

() g faagt & 9l

(¥F) 9™ H1 Ffawl

(3) TS favemo qen ¥=R)

(¥) [y F TfIT FH T TR FF
() wgfa *1 wE=|

(F) 7699 B @ FE & &9 ° FR¥yE)
(J1) e # LIART. (ERG) fagial

What is the concept of OB ? How does the study of OB
help to meet the future challenges ?

TISIHE IF&R (OB) Y 1 URUT € ? YrIeATcTh SFaER
F e fve e ¥ 9faw # gfadl 9 fge o
TETF 7 ?

What is nature of OD ? What are the benefits and
limitations of OD.

WETE fawE (OD) F #0 W £ 2 grens faw
% F o qen gd § 2

4060-S/900/KD/660 2

What is difference between Group dynamics and Group
cohesiveness 7 Explain important factors contributing
towards group cohesiveness.

THE At TAT TIE WEEE @ A F W 8 2
TE W % fau avem [ 9 wewEyel s #
BLEEY

What is Informa! Communication ? What are subordinates
and organisational barriers ? How to improve them ?

IMTEIfited IR F 2 ? IRy qU QUSTHE
T F ¥ 2 T GUR H9 FRA W wwar § 2

What is Learning ? Explain the classical conditioning
theory of learning ?

e w1 g € 2 Hen & Fofawd o fagi
L

What is Motivation ? Explain expectancy theory of
motivation.

ARTO 7 € 2 iion # wemen fagid i gEemE

What is difference between Management and Organisational
behaviour. Explain the merits and demerits of organisational
behaviour in relation to changing human scenario in relation

to multinational company.

a1 HSHAHE FOER ® " F AW B ? TgUE
FE H G99 § T8 AFE URGY ® GaY § SIS
ZEER % O & W I qHHET

4060-S/900/KD/660 3
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MDE/D-16 4061-S

BUSINESS ENVIRONMENT
Paper : MC-502

DDE 1 80

: Three Hours] [Max. Marks :
Reappear : 100

: Question No. 1 is Compulsory. Attempt any four questions
out of remaining seven questions.

FA U T F IW I e wew | dfee § wE
¥ IR T 99 gC 99 g9 § 9 s

Compulsory Question
( frard wew)
Write short notes on :
= W feooh #Fife .
(1) Business Ethics
s Afee
(i) Corporate Governance
e 9 wafrm wmes yomed
(iii) Social Responsibility of Business
aEE T g e
(iv) Multi National Companies (MNCs).
TE-ITMF FHEAAT|
(v) Right to Information (RTI).
= F AER

-5/850/KD/1705/Trans. [PTC.
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(vi) Joint Sector 5.
TYH &

(vii) Public Sector
LIERIECHRAE|

(viit) Private Sector 6.
frft &

(ix) Right of Consumers

IqqEeT ® HER
x) IMF
@u_._..mno.ﬂﬂo.ﬂﬂo_

What is Environmental Scanning ? What is the need for
Environmental scanning ?

TR0 ATAIHA F B? GHORW STaenFA ¥ S
EIXG

Critically evaluate Fiscal Policy of India. What suggestions
would you give for reforms in Fiscal policy of India ?

I 1 TRNE AR w1 eeTeTE geatsT s
9 F1 TN AT F GUR F fn o9 = qwe 2 o

Explain with example the impact of regulatory framework
on Industrial structure and performance in India.

gRa § SfEnf S ol wevh W faftams @i #
faw #1 =men sEew e fu

Examine the achievements and failures of the Government
Policy in attracting Foreign Investment in India.

qvd § fogel few =1 sefle @ § T A 5
fawem 3R Syeferd % = Fif

What are the objectives of the Consumer Protection
Act. 1986 ? Explain the procedure for making complaint
under the Act.

SudERT W sfufram, 1986 # wRew w2 Ty
Hfufem & 50 e F1 =1 9fFra 1 gmm

Write a note on the role of World Bank in India.

TG | favs 9% &1 9fte W uw A= fafag

Explain the provisions of the New Industrial Policy with
regard to licensing.

AEHY F T § 7E et Ay # waue w geemey

4061-5/850/KD/1705 3
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MDE/D-16 4062-S

MANAGERIAL ECONOMICS
Paper : MC-503

Reappear : 100

Time : Three Hours] [Max. Marks : Fresh - 80

Note : Question No. 1 consisting of 10 short questions of 4 marks
each is compulsory. The candidate is required to attempt
any four questions out of remaining seven questions and
each of these question carries ten marks.

e : U TEm | fEd 2, fed fr 3w oy s e,
TAF 4 % F 2 VY @ W © fFE ORI F I
I a0 & YIF T 10 FF F 2

Compulsory Question ( 27f7ard wy=)

1.  Write short answers for the following :
(a) Briefly explain the nature of managerial economics.

(b) What are main responsibilities of managerial
economists ?

(c) What is the concept of marginal ?

(d) What is consumer equilibrium in Economic theory ?
(e) What is price effect ?

(f) What is law of variable proportion ?

(g) What is Iso cost line ?

4062-S/1,000/KD/446/Trans. [P.T.O.



!\)

thy  Write note on Opportunity cost.

(1) Distinguish between perfect and pure competition.
(j)  What are administered prices ?

feafafaa go % wfam s Sfsw .

(F) TAFA AT F1 UFHA B GHT § gHIARY)
T F e STEiae 9 82
() T # SR g

() Ja~HE 373

() wfeis fagrd § IS99 Sogeda @ 22
(T) geg 99 ¥ B B2

(F) wfadm wqum w1 fram w=n &2

(%) T4 @ @ A B?

() FIMR @ | TF A fafan)

(7) Tof qen 5 wfgerat # = R FaEu
(3F) TN FEd e €7

Define managerial economics. Explain the fundamental
concepts of managerial economics.

TEHETT HefvA w1 T FIfA gty syl #
HAYd HIONT R qHART

Explain and illustrate the factors that influence the demand of
a commodity.

TF a5 FT A F AGET FH G BRE] B G
dq 3TFHT TR HIfFUY

4062-S/1,000 KD 440 2

What is an indifference curve ? Explain the income and
substitution effects of a change in price of a commodity.

AT TF T T F? TE a9 B Ged ¥ uREdT W
HE q Yfaegd Y9E & UHHRET

“The Long Run Average Cost (LAC) curve is more likely to
be L-shapped than U shaped” discuss the statement.

‘ol srafy w1 STHd @R (LAC) IF $ U-3TFR F1
YT L-3HR ® B H G9ET S el

“The monopoly price is always higher than the competitive
price whereas the monopoly output is less than the competitive
output.” Explain the statement.

“ TR qoa, wfaenedt qeg w1 emen gHwn sifuw S
2 wafh THEER arseqe, whendt osege # o o
FH B 21" TW FOT H GHIEY

Write short notes on the following :

(a) Peak load pricing.

(b) Skimming pricing.

frfafan = dfaa e fafag -

(F) 399 91 qea Fuio

(@) fewftm qeg fruio

What is meant by Business cycle ? Explain its various phases.
Explain the measures to control recession.

SR W% w1 #7137 3@e fafes =l ) weemE
LEER e Lk il el

4062-S/1,000/KD/446 3
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MDE/D-16 4063-S

ADVANCED STATISTICS
Paper : MC-504

Reappear : 100
Fresh DDE : 80

Note :  Attempt five questions in ail, Question No. 1 is compulsory.

AT ;. FF W T F SR AW WA G| e 2

(b)

(e)

(f)

(g)

Compulsory Question ( 31f ™ wyT)

Why is arithmetic mean considered to be the suitable
measure of central tendency ?

Write a short note on “Standard Error of Estimate” for
multiple regression.

State and prove multiplication theorem of probability.

Six dice are thrown 729 times. How many times do you
expect at least 3 dice to show a five or six.

What are the elements that decisions matrices usually
contain ?

Distinguish between point Estimation and Interval
Estimation.

Define student's t-test and explain some of its
applications.

4063-5/950/KD/423 [P.T.O.



(h) Discuss the usefulness of F-test.

(1) Discuss the precautions which should be kept in mind
while using ¥ 2- test.

(J)  Explain briefly the chief features of Wald-Weolfwitz test.
(10x4=40)

(F) *= wgfa & 99 % o g9ia o1 1 39 6
THA W 2

(@) ¥ AE 1 799 e | uF fowgon fafEm)

(M) wfEwEd F PR WHF F1 AN FAU wE fag
Hiferuy

() 6 W0 729 IR FF MUl fFAT I 99 g9TES FE B
% 39 9 9 9 5 7 6 HF YFZ FO

(%) T ol w5 fafv=s a1 51 =m=n w1

() {93 o e fa0e e ¥ WA SdrEu

(B) |E2 (vl #:1 a0 F q0 TF B AT F
Exguclicay

(I) F-9fem w1 3w &1 30 F1)

(%) *E-a1 9dao ¥ ot 99 Aol gEdtE fEte)

() aree FeifEes wWam #1 ge favead guemEy)

4063-S/950/KD/423 2

Calculate Bowley's coefficient of Skewness from the following
two groups data and point out which distribution is more
skewed ? 10(15)

R R s S L s g S
TONF HT T FE TE L F F R G ORI s
famm 27

Marks Group A Group B
55-58 12 20
58-61 17 22
61-64 23 25
64-67 18 13
67-70 11 7

UNIT-I ( 3h1E-11 )

(@) Define simple, partial and multiple correlation
coefficients and find their relationship with one another.

8(12)
(b)y If Wsm =1, prove that R, 3=1 2(3)
(F) 7, AR qo0 9go7 ey o w qRm
AT qon o9 o9 | Ty 7@
(@ AR R ;= 1, 8 a@ fag #fw fF Ry, =1 ¥

What is normal distribution ? Explain its properties. Bring
out its importance in statistics. 10(15)

T faRn | o s €2 et R s
wifer®! ¥ 9 wew TR

4063-S/950/KD/423 3 [P.T.O.



5. Explain different methods for making decision under
uncertainty. 10(15)
Afeaaa 1 ofifeufmal & orfa fafy= froler st
F N HIfST)

6. What is an estimator ? Discuss the important properties of a
good estimator. Show that the sample mean is a good estimate
of population mean. 10(15)
TEwTF | T AT 7 TF oS Fed *i Hew Ul
et &1 avm w1 fag wifWe fF S o gufe
oA & TF T AFHAF 2

7.  Write notes on the following :

(a) Sign test 5(7v2)
(b) Ztest 5(7v5)
Tefafad w e fafew :

(%) WA 3=

(@) z =

8. A survey amongst women was conducted to study the family
life. The observations are as follows : 10(15)
Hfeenstt & Wieie sfed @ gafug & wd fFa o
e sffwe frfafea & -

4063-S/950/KD/423 4

Education Family life

Happy Not happy total
Educated 70 30 100
Non-Educated 60 40 100
Total 130 70 200

Test whether there is any association between family life and
education.

(The table value of Xoos for 1d.f = 3.84)
TfEfe Shas qen foren § #8 g9y € o 7@ e w1

(The table value of »\MSM for 1d.f = 3.84) 10(15)

4063-5/950/KD/423 5
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MDE/D-16 4064-S

MARKETING MANAGEMENT
Paper : MC-505

DDE : 80

Time : Three Hours] [Maximum Marks :
Reappear : 100

Note : Attempt five questions in all. Question No. 1 is compulsory.
Attempt four more questions from remaining seven
questions.

e : F;A U I P W IR w9 9 1 e {1 T
T2 g7 Y 9 @ R R e % s s

Compulsory Question
(afrad we)
1. Write notes on the following :
frefafes w 9k fafew .
(i) Marketing Information System.
fogom gE WOt
(i) Product Line.
IR w1 frem
(iii) Exclusive vs. Selective Distribution.
I W TS faa
(iv) Captive Product Pricing.
dU wER] SR w1 Wed i
(v) Trade Promotion.

HOE  JeE|

4064-S/950/KD/1700/Trans. [PT.O.



(vi) Live examples of Green Marketing.
U AT & WY I
(vii) Benefits of Relationship Marketing for Practitioners.
ZaaE & fau dadft fagmm ® @
(viii)Role of Packaging.
¥pfEn = gfe
(ix) Logistics.
A |
(x) Marketing Audit.
fauom  sifee

(10x4=40)

What segmentation basis can be used to segment the market
for hotel industry ? Discuss using suitable examples. 10

FH-8 AR B TUR w1 TN = ded IO @ fau
TR 1 fauaem fFm &1 9 2

Comment on the possible marketing strategies in various
stages of Product Life Cycle. Discuss the strategies in
light of 4 Ps. 10

IR e T & fafv= oof § 9vg faoom orifel )
feoqoit @ 4 ps F gfe H worifaal w5 s ST

Discuss the various ,.<mamao=m that can be made in pricing
policy to make it Bono relevant according to prevailing
conditions. 10
T feafial & ogEr geg fuftor Hifs o fafae S
J W AR off yEfis I s gEm, W W == Sifew

4064-S/950/KD/1700 2

5.

Devise a detailed advertising plan for a new enterant in
Digital Wallet industry of India. 10
9Ra % fefiem agen s A 7w 3um = fou o= faeq
fasrm e = faer Fifsm

&
What lures domestic marketers to venture into foreign

markets ? What problems are faced by them on account of
it 72 How can these be settled ? 10

fokelt 9OR ® T # QR 99K FH IR B TR0
FH-Y ¥ ? T FNU TH g I8 FRT guemst & e
R E?

Using suitable examples discuss the detailed channel design
process. 10

faeqa S9er feoiea Y Wi 1 STgE ST F1 WA
FH T4 Hio

What clues can be gathered by marketers from consumer
decision-making process ? How can these be used to serve
them better and get benefits for themselves ? 10

Iy fofr R ® 9fF @ SR-9 g faRa W
TS fF W TR TEH SR AR G iR TR H AN
T % fau $N o R o gwa € 2

4064-S/950/KD/1700 3
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MDE/D-16 4065-S

ACCOUNTING FOR MANAGERIAL DECISIONS

Paper — MC-506

. . DDE : 80
Time : Three Hours] [Maximum Marks :

Reappear :100

Note : Attempt five questions in all. Question No. 1 is compulsory.

Every sub-part of Question No. 1 is of 4 marks. All other
questions are of 10 marks each.

1. Compulsory Question

@)

(ii)
(iii)
(iv)
(v)

(vi)

(vii)

(viii)

(ix)
(x)

What do you mean by Responsibility Accounting ?
State the uses of Cash Flow Analysis.

What is Absorption Costing ? ,

Explain the concept of Zero Based Budgeting.

Is favourable variance always an indicator of
efficiency in operation ?

What is the purpose of using transfer pricing by the
firms ?

Explain the difference between the operating and non-
operating section of income statement.

What is meant of Responsibility Centre ?

Write a brief note on CVP analysis.

Describe the managerial uses of Variance Analysis.

4065-5/1000/KD/1466 [PTO.



i

'Management accounting aims at providing financial results
of the business to the management for taking decisions.'
Explain by bringing out advantages of management

accounting.

What do you understand by the term 'Reporting to
Management' ? Discuss briefly the matter that you would
deal with while reporting to :

(a) Board of Directors.

(b) Marketing Managers.

What is meant by the term 'budgeting’ ? Mention the budgets
normally prepared by a big Industrial undertaking.

Describe the various ratios that are likely to help the
management of a manufacturing unit forming an opinion on

the solvency position of business.

A gang of workers normally consists of 30 men, 15 women
and 10 boys. They are paid at standard rates as under :
Man Re. 0.80

Woman Re. 0.60

Boy Re. 0.40

In a normal working week of 40 hours, the gang is expected
to produce 2000 units of output.

During the week ended 31st December, 1977, the gang
consisted of 40 men, 10 women, and 5 boys. The actual

4065-S/1000/KD/1466 2

wages paid were @Re. 0.70, Re. 0.65 and Re. 0.30
respectively. 4 hours were lost due to abnormal idle time
and 1600 units were produced. Calculate (i) wage variance
(i1) wage rate variance (iii) labour efficiency variance,
(iv) gang composition variance (i.e., labour mix variance)
and (v) labour idle time variance.

7. A company sold in two successive periods 7,000 units and
9,000 units and has incurred a loss of Rs. 10,000 and earned
Rs. 10,000 as profit respectively.
The selling price per unit can be assumed at Rs. 100.
You are required to calculate :
(a) The amount of fixed expenses.
(b) The amount of units to break even.
(c) The number of units to earn a profit of Rs. 40,000.
8. Write a detailed note on the contemporary issues in
Management Accounting.
4065-S/1000/KD/1466 3



7. Explain the meaning and sources of Group Cohesiveness.
Also explain the consequences of the same. 10

THE gET= F1 3e oik Wl il AHeE TEe IR #5
ff gHEmT

8. Explain the meaning and relevance of transactional analysis.
Also explain the meaning and different types of Strokes. 10

=aER faverer &1 Y R WEiwar w1 SHeE e
(Strokes) & fafs= wor iR e7d # THEmEy

4712/1,200/KD/1323 4
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OMDE/D-16 4712

ORGANISATIONAL BEHAVIOUR
Paper : MC-101

Time : Three Hours] [Maximum Marks : 80

Note : The first question is compulsory. Attempt any four
questions out of remaining seven questions and each such
question carries 10 marks.

AT : T HEd | ﬁmmaw_mﬂ,%ﬂaﬁ&m@ﬂmﬂm
T ® IW A TEF T 10 FF & R

Compulsory Question
(rfard o)
1. Answer the following questions should not exceed half
page. (10x4=40)
frAfafed wot & S oMY 99 ¥ sifvs &1 781 8 =feul

(a) Contribution of Hawthrone studies.
Hawthrone 389 &1 AMRH|
(b) Business organisation is an Art or Science ?
gt e TR wen @ a1 fame?
(¢) Describe Machiavellianism in the context of personality.

=g & usd o dgam  (AiEsaefamaf) =t
RS FHIfe|
4712/1,200/KD/1323/Trans. [P.T.O.



(d) Explain Type A and Type B personality.
T A’ R TET B R w5 w wf
(e) Describe Perceptual Selectivity.
SUIHF T 1 T FI
(f) Describe Stereotyping.
wigggar 1 FviA wifdu
(g) Describe Nature of Learning.

UEq & @aE #1 avi #if

(h) What is an Informal group ?

TF A TR o
(i) Describe Parent Ego.

- & SEFER w1 Aol wif)
() Benefits of Transactional Analysis.

wﬂmﬂjﬂ (Transactional) TaIveimor & =19 ER[EY

Explain the meaning and features of Organisational
Behaviour. Also the contribution of different disciplines
to Organisational Behaviour. 10

HISAHE HaER 1 a1 o faRivae gHemEn) SreerE
=EER % foau fafv= fawdl & 9w w5 ey

4712/1,200/KD/1323 2

Explain the modern approaches to organisational behaviour.
Also discuss the impact of globalisation on organisational
behaviour. 10

SUCHICCRS C Rl qyfrr Ifewm w1 gmmy
ST HaeR T A & w9 1 ot ==t i)

What is Personality ? Explain the “Big Five” personality
tracts theory. Also discuss the other personality tracts
influencing behaviour in organisations. 10

St T 87 ¢ fa wEa"’ (Big Five) =i fogr &
T FARY ST § FgER I YWifad w9 o=
A F W IR

Explain the managerial relevance of studying Perception.
Discuss the factors influencing the Perceptual Selection. 10

ﬂmmﬂ%ﬁﬁﬂ%gﬁmﬂﬁﬁmgﬂﬂﬂﬁ_
HIYROTHF 99 FH YOI FE I FRE 5 99
FHifsa)

Explain the meaning and importance of Learning. Discuss
the Operant Conditioning Theory of Learning. 10

FATT H A AR e B YHATY AZFT B Operant
FIF fagm &1 ==t Fif

4712/1,200/KD/1323 3 [PT.O.
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OMDE/D-16 4713

BUSINESS ENVIRONMENT
Paper - MC-102

Time : Three Hours] [Maximum Marks : 80

Note : Question No. 1 is compulsory. Attempt any four questions
out of remaining seven questions.

AT ;. v g | e 2 v 7w W | S ae o
B Hifau

Compulsory Question
(fad we)

1. Write short notes on the following :
frafafaa s #1 dfia s G .
(i) Business Ethics.

I A
(i) Corporate Governance.
FURE IHA-FoTe |
(iii) Social Responsibility of Business.
Eeripich i sc A s Sl
(iv) Privatization.
fasftreon

(v) Globalization.

qrEfrwan)

- 4713/1,200/KD/1586/Trans. [PTO.



(vi) Disinvestment in PSUs.
PSUs ® faframm
(vii) Micro Environmental Factors.
TEH! qATEONE HREF|
(viii)Macro Environmental Factors.
Hew! waieRoia wRe|
(ix) Industrial Sickness.
N o

(x) Industrial Licensing Policy.

Areifrs wredw if

What is Environmental Scanning ? Explain the various
Techniques of Environmental Scanning in detail.

yafen sEelRd N 2 ? YAl oelied &1 farae
Tl & fa@r 9 = wifsu)

Explain the concept of Economic Planning in India. Highlight
the objectives, strategies and Problems of Economic Planning
in India.

aRg | anfefer faem &1 Taunen S e Kifau 9
¥ onfdw fraem & styg, fl ok guemst — wem
SifeTl

Differentiate between the Fiscal and Monetary Policy of
India.

TRd &1 fadim ok ofdfw Hifs & 9= o FawRw

4713/1,200/KD/1586 2

Explain the various steps taken by Govt. of India for the
Development and Protection of Small Scale Industry in India.

ARa H Y- 3E @ e % AU 9R SRER 5N
fon mu fafi= s =+ =ren st

Write a detailed note on Foreign Exchange Management
Act.

st g yeum erfufram W fawm 9 feooft fafem)

What is Consumer Protection Act ? Explain its redressal
mechanism.

IS weeor sfufrag w=n R 7 suel feafafy w1 farm
HITT|

Explain Right to Information Act in detail.

T a1 AR arfufem w fawm 9 sem it

4713/1,200/KD/1586 3
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MDE/D-16 4652

MANAGERIAL ECONOMICS
Paper : MC-103

Time : Three Hours] [Maximum Marks : 80

Note : Question No. 1 is compulsory. Attempt any four questions
from the remaining seven questions.

T : W gen | e B Yy um W B 8 e ew
T % WSS

1. Compulsory Question ( A ard weyT)

Write short answers of the following :
(a) Explain the nature of Managerial Economics.
(b) What is Market structure ?

(c¢) Differentiate between Demand forecasting and Demand
estimation.

(d) What is the difference between Marginal cost and
Variable cost ?

(e) What is Inflationary Gap?

Frefafes st wfa S e .

(F) TEUHE AT H THfA w THIET

(@) IR A F e 22

(M) | YEEA de HE e & " R waRu

4652/4,500/KD/696/Trans. [P.T.O.



(%) dH9ia o 9en REd T ® S S Sfa 82
(F) GEERfa e w22

Outline the relationship of Managerial Economics with
functional areas of business.

YEUSRT AT F FUR & FHEHS & F Y qEYy
= W@iwa Fifsm

What is meant by Demand ? Explain the factors which
influence the demand for fast moving consumer goods
(FMCQG) in our country.

oM oW F oaeed 2?2 R W W oSt @ wem T
IYERT HE (FMCG) $1 9 & gwfad & 9@
TR h GHET

Explain the Law of Variable proportions. How is this law
used in Managerial decision-making ?

wfadia Fgad & fem # gueRw yeusg fofm
ra ¥ 3@ FEE w1 ST #9 e 22

Explain and illustrate why the short run cost curves of a
firm are U-shaped.

FHFRT o1 99F Hiee fF e e % o emfy %
aE a% U TFR ® =& OB F

What is Discriminating monopoly ? Show the determination
of profit maximising equilibrium of a discriminating
monopolist.

4652/4,500/KD/696 2

fadsrs WIRMER € F ad 27 U fauRe®
TFYHR & @9 AfuFaa gageaa & HaRer Ht
TITET

Define Inflation. Explain the causes of inflation in India.

TETEHIfT FT IR TART 9RG § ORI H HRON A
T

What is Business cycle ? Explain the various phases of
business cycle in India.

R 9% 9 T AEE 27 NG § SR 9% @ At
O H AN _

4652/4,500/KD/696 3
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MDE/D-16 4653

COMPANY LAW
Paper : MC-104

Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 is
Compulsory. Attempt four more questions from the
remaining seven questions.

AL : FA O WA ® IW AU T Fgem 1 qfEE
I A T ¥ @ uw iR W s

Compulsory Question ( 31f@Emd wyT)

1. Answer the following questions in brief :
(a) One Person Company.
(b) Pre-incorporation Contracts.
(c) Statement in lieu of Prospectus.
(d) Pro-rata Allotment.
(e) Annual Report. i
(f) Share Warrant. (6x4=24)
frafafes gt & sw ST :
(F) THa AfR FHA1
(@) TAHe ¥ @ % STEw
(M) TEE faErm
(9) SAgufaer  afree|
(¥) o i)
() 3w gl

4653/4,600/KD/869 [P.T.O.



“A company is an artificial person created by law, having
separate legal entity with perpetual succession and Common
Seal.” Elaborate this statement and mention fundamental
characteristics of Company. (4+10)

“He faum g fifiT T Fhm st € feme gus
Ui ST, W STORMSR TS WRigR et 21
T weF H AR ¥ TEem qa FER W STuRyE
fagiwaret =1 =R

"Memorandum of Association is an Unalterable Charter."
Comment. 14

“arfg it T eTofad were 21 fEE w9

What is the Doctrine of Indoor Management? How it is just
opposite of doctrine of Constructive Notice? Mention the
exceptions of Doctrine of Indoor Management. (3+3+8)

A wEu w1 fagia w9 TEew gE #
fagia & faula #9 27 sl wey 3 fagl =
uag ot warst

What do you mean by Forfeiture of Shares? Explain in detail
the procedure of Forfeiture of Shares. (4+10)

sl & T Q@ = afwa ®7 o #® wwwr W i
1 fowr 9 = w1

Define Director. Explain in detail the Rights, Duties and
Liabilities of Directors of a Company. (4+10)

Haes i URTIET w) FT B dOeE ® SiuERl,
FU wd a9 AR 9 = w1

4653/4,600/KD/869 2

7.

What do you mean by Oppression and Mis-management?
Explain the procedure regarding prevention of Oppression
and Mis-management. (4+10)
FAER UF HIEY ¥ F AT 27 IR TH HyEy
F UFUAW FOWED F =R HA

What is meant by Winding up of a company? Explain the
various modes of Winding up of a Company. (4+10)

FE B T ¥ T oRwE P T O WEHH #
faf= ol = = =1

4653/4,600/KD/869 3



prie b esplare the Replac o 0 lein 0 e
fevel ecounting.

e ficaiel

R AT AT R TATTHE

8. Write a critical note on product hic cvele costing.

I T S FA TG P HHIATEE

4654/4,600/KD/1678 4

MDE/D-16 465:

ACCOUNTING FOR MANAGERIAL DECISIONS
Opt. - MC 103

Time @ Three Hours] P Govmwm Marks 0N

Note : Attempt any five questions. Question No. 1 consisting .
six short answer questions of 4 marks cach is compulsor
Ae ;. H@ U T F IW AU WA Few | AHEE
o o oy 3ol 99 § 3R TEE T 4 AF

1. Compulsory Question (fard ue)

Short answer questions.

frafafea oy g & IW T

(a) Position of Management Accountant.
ey THRde w1 Refa

(b) Concept of Divisional Performance.

I YRR @t STEemem)

(c) Budgetory Control.
ExcAREEEL

(d) Need for Variance Analysis.
fadia favemn & fau s&@

(¢) Break-Even Analysis. ,
Tfrfeq =R w1 favewo

(f) Need for Price Level Accounting.
T W1 e@ed & fay sl

4654/4,600/KD/1678/Trans. [PT.
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OMDE/D-16 4716

ACCOUNTING FOR MANAGERIAL DECISIONS
Paper : MC-105

Time : Three Hours] ‘ [Maximum Marks : 80

Note : There are eight (8) questions in all. The first question is
Compulsory and consists of ten short questions having
four marks each. The candidate is required to attempt any
four questions out of remaining seven questions and each
question carries ten marks.

Fz : YHE-UT § B oS WA §1 WA wem 1 ot 2, fewd
7@ A e € A T W 4 3 w2 I WE
A ¥ ¥ faE wr W e W fSe qen T T
T 10 HF F1 2

1. Compulsory Question A@qﬂmﬂ, T9)
(i) What do you mean by master budget ?
TR g9 Q 9 F= o § 2
(ii) Give the types of reports.
fraret % wR SR
(iii) Narrate the four main techniques of Management
Accounting.

TEYA R Hi O g qEAl &1 9t Hife
(iv) Differentiate Standard Costing and Budgetary Control.
THF @G 9 ey e & &9 Sfat JaEt

4716/1200/KD/1625/Trans. [P.T.O.



(v) What is angle of incidence ?
YT F F FT R R 2

(vi) State the different types of responsibility centres.
faf= vl % sewifea &= = Ty

(vii) Give difference between Traditional cost management
approach and Target cost approach.

TR AP Joem gfeehio @on @ag @ ghesio
% 9 f R TRy
(viii) Give principles of Life Cycle Costing.
Sfe-=e @ i & fagid w5 s
(ix) Explain Composite Break-even point.
TIH -3 f5g 91 T
(x) Explain Material Mix Variance and Efficiency Variance.

it fag R qen e fa=ar = TSR
(10x4=40)

“Management Accounting is the presentation of accounting
information in such a way as to assist the management in
creation of policy, and in day-to-day operations of the
undertaking.” Elucidate the above statement giving a suitable
illustration. 10

" FET T, ST YEA BT WER H TR
& 78 wovm =1 s feior & 9o e =) e goweE
d W WA R IWE FO H TH SUgE
3T g fam= wifew

A factory is currently working at 50% of its Working
Capacity and produces 10,000 units. At 60% working
capacity, the raw material cost increases by 2% and selling

4716/1200/KD/1625 2

price falls by 2%. At 80% working capacity, raw material
cost increases by 5% and selling price falls by 5%. At 50%
Working Capacity, the product cost Rs. 180 per unit and
sold at Rs. 200 per unit. The cost of Rs. 180 is made up-as
follows :

Rs.
Materials 100
Labour 30
Factory Overhead (40% fixed) 30
Administrative Overhead (50% fixed) 20
180
You are required to estimate the profits of factory when it
works at 60% and 80% of its working capacity. 10

TF FHREME Fa9H H T 50% FEaTa | F15 F3 @
2 T 10,000 THEA FT I FA 2 60% FrdeTA W
F= A FI AW 20% T T E q=n fawa geq 209 fn
Sl 80% FHEFHN W, F=o WS HT W 5% qF S
T qW A g 5% R S #1509 T W SR
F1 AN 5. 180 W THE 9O TW E. 200 W THEE W Ih
SR B1 % 180 F oW Frefafed @ © i @ .

(% ®)

w1 A 100
59 30
FREM =7 (40% feer) 30
WHAF =77 (50% feer) 20
180

ﬂ%i%@mﬁ%@ﬂ&mﬂﬂﬂﬂyﬂ
THH AN F ewE FRY

4716/1200/KD/1625 3 . [P.T.O.



4.

What is Transfer pricing ? What are different types of transfer
prices ? Under what circumstances is each type of transfer
price appropriate and useful ? 10

TR e @ ® 2 A v # s qed wm
§ 7 fre offfiel & orld, YoF YRR H T o
IYYE 94 SwE ¥ 2

A Company budgets for a production of 1,50,000 units.

The variable cost per unit is Rs. 14 and fixed cost is Rs. 2

per unit. The company fixed its selling price to earn a profit

of 15% of cost. Calculate

(a) Break-even point.

(b) Profit-volume ratio

(c) Ifitreduces its selling price by 5% how does the revised
price effect the B.E.P. and P/V ratio.

(d) If a profit increase of 10% is desired more than the
budget, what should be the sale at the reduced price ?

10

TF FT 1,50,000 THE B IAEA FH g9 ST 2 W

THEE AR o B, 14 Wfa TR qen feer @ T 2 wfd

TR 31 15% 9 Ifd wE 2F FUA A9 oA e

feot &Y 2t 1 UM HIFT ¢

(F) Tn9-3remy TS

(@) - ST

(M) IR FT fEE g F 50% FH R IM T T@
Teifed Teg LW, (BEP) qen W/l (P/V) STIAR
Y garfam wam)

() A% T ¥ 10% fus o9 Fis-E §, @ w9 g
e W fagt F=n g =eu

4716/1200/KD/1625 4

In a factory, 100 workers are engaged and average rate of
wages is 50 paise per hour. Standard working hours per
week are 40 hours and the standard output is 10 units per
hour. During a week in February, wages were paid for 50
workers @ 50 paise per hour, 10 workers @ 70 paise per
hour and 40 workers @ 40 paise per hour. Actual output
was 380 Units. The Factory did not work for 5 hours due
to break down of machinery.

Calculate appropriate Labour Variances. 10

@ FRER ¥ 100 TR FE F@ € a0 Togd w1 i
= 50 Y8 ufy wver 2wl wwE AEE wE G 40 w0
£ g UM SRR 10 THE W S ¥ B W T
qaE # WA 50 TR # @ 50 Y iy =ver, 10 WY
@ 70 T Ui Hver Fo 40 WO W @ 40 T ¥ WO
gl o1 I M| AT(TH IR 380 THRE oAl WG H
TAE F HROT FR@AT 5 TS qF T8l =l

IugE gm frrare Y O i)

Discuss the process and managerial applications of value
chain analysis. 10

Toa e favee # UfRAT qe YEEEHE SIyE
= ifdg)

What are the objectives of reporting to management ? Discuss
various types of reports prepared for different levels of
management. 10

v # ROfd & w1 Reg € ? YEH B STE-IH
W ® o R & 9 T fafm wer R =@
T4t Hifsal

4716/1200/KD/1625 5
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MDE/D-16 4655
MARKETING MANAGEMENT
Paper — MC-106
Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 is compulsory
with six short questions of 4 marks each (answer to which
should not exceed 150 words). Attempt any four questions
(14 marks each) out of the remaining seven questions.

AT : FW U T B IR AW g wEew 1 e g
frad ©: oY 90T WA T (4 FF YIF) a0 TAF F
IW 150 vl & SR B wfew oW §@ W A 9
(14 3% y&%) &=l wm & S S

1. Compulsory Question ( 3@ weT)
(a) Name four companies/institutions that you believe are
adopting different concepts of marketing. 4

W) FIE/EEE ® W adRy, fE R e wee #
fr faoom # e Rt oo W @ @

(b) Give some example of how changing role of women

has been reflected in marketing. 4
Afeeneti #t weerd g fawom ¥ *9 yfafdfee g
2, oo IS G

4655/4,500/KD/707/Trans. [PT.O.



(c) Why should company protect the separate identity of
its brands ? 4

ﬂiﬂﬁiﬁwﬂﬁﬂﬁ%ﬁ«ﬂmﬁ&
=fEu

(d) What is the purpose of doing product classification ?
4

SOR T F@ 1 o Rew 0

() What are the reasons of fast changing consumer
behaviour in Indian market ? 4

RAT SR § aSt ¥ g SusiE SRR $ e
FRO E ?

() How is it difficult to separate impact of various
promotional mix elements ? 4

fafr= wor fog o= 2 wvE = eem w29
wfe7 2

How are different concepts of marketing evolved over time ?
Which one is relevant in the present time and why ? 14

foom #:t fafr= oot T # we-my 39 frehe
& ¢ 2 O gw ¥ e R ur e § aen w6 0

Discuss the steps involved in Marketing Research ?
How does it benefit a company ? 14

gﬂ%mﬁ?ﬂﬂ&ﬂmﬂﬂ?ﬁﬁﬂiﬂﬁ
Y A TEEr § 2

4655/4,500/KD/707 2

Compare the elements of marketing mix for a convenience
good with those of the mix for speciality goods. 14

oy aegei aon fafre aeget & fgoe iy ot @
o= ge Hifu

What are the key steps in developing and launching new
products ? 14

ﬂﬂ&ﬁ@ﬂ@mﬁ»mﬁdﬁﬁ»%ﬂﬂﬁﬁn
FE 2

Explain the key inputs and considerations while making
pricing decisions. 14
T-fui ol o v T e e Ren
HHEARY

S

Describe the major functions of Marketing channels.
Why are most functions better accomplished through
combined efforts of channel members ? 14

fowm el % qer wf % sren #ifkw st 5ot
T TR B TR W ® 9RT @i dem ais 9
o s @ 2

How will direct and online marketing influence marketing
in future ? 14

IERF TN NG WS 9 e § aEtn w5 e
gifaa wET 2

4655/4,500/KD/707 3



(F) 9 ¥ 39 1 TuEn €7 WEviE G ¥ 9E @
fafy= vl = gHeRw

(W) TF SN # 22 TR & odl # == st

7. Explain the followings :
(a) Video conferencing
(b) World Wide Web.
Frefafea =1 wwemT .
(%) dife wimfan
(@) = TR T4
8. (a) What do you mean by E-Commerce? Discuss various
legal aspects of E-Commerce in India.
(b) Discuss various security issues in E-Commerce.
(F)3-FME ¥ T 01 THEW 27 9N H T-mmd &
fafs= = Eqe &t == Fifew
(@) 3-wmd ¥ faf= gean g =1 == wifvw
4215-S/300/KD/438 4

Roll No. ..o Total Pages : 4

MDQ/D-16 4215-S

COMPUTER APPLICATION TO BUSINESS

& E-COMMERCE
Paper : MC-601

Time : Three Hours] [Maximum Marks : 50

Note :

e

(b)

(c)
(d)
(e)

¢y,
(8
(h)
@)
()

Attempt five questions in all. Q. No. 1 is compulsory. All
questions carry equal marks.

FA ufer Il & SW ARG g wEm 1 st R
Tf w B oF T
Compulsory Question ( 37F@E™ w93)

Differentiate between RAM and ROM.

What is CPU? What are the two main components of
CPU of a computer system?

What do you mean by electronic data processing?
What is the use of Fibre Optic Cable?

What is the use of format painter in word processing
package?

What is a Query? Explain its various types?

What is cyber crime?

Differentiate between a primary key and a unique key.
What is software ?

How is E-Commerce useful in business?

4215-S/300/KD/438/Trans. [P.T.O.



(F) RAM @1 ROM & 9 3R T sHifeu

() CPU #1 ?7 TF &R el & CPU & & q&A
ec ks I

(M) Tolwife o uRfen & o9 T e ¥

() WER ek Faad & o1 79T 32

(¥) o€ TRfET 999 o wioe = ® = swEn ¥

(F) 8 (Query) T 22 3w fafy=t wori =1 wwgmETl
(B) WIS WY T 27

() TEAG F qAq IF F P 9 AR TR FHiww

(F) WwRER 7 ??

() =R | -wimd IEet SE @2

(a) What is a Computer? Discuss various advantages of
Computers.

(b) Differentiate between impact and non-impact printers
with their relative advantages and disadvantages.

(F) FFER 1 B2 FoR & fafer ansdf &) ==t wifsmy

(@) R 71 TH-3h= Rl ® 9 379 dafm o w
T wfed, sim waEy)

(a) Differentiate between system software and application
software.

(b) What is an operating system? What are the services
provided by operating system?

4215-S/300/KD/438 2

(%) fa=y gfeam 99 TeisyA iRas & 9 @
W FHifea

(B@) TF Aqfen faen w=n 27 Afen fown gm w=n
YAt 9 HI I €7

(a) What is the difference between good and bad web design?
Discuss.

(b) Differentiate between intranet and extranet.

(F) 3D a1 EUE d9 fesga & o= 7 R 27 ==t
Edi

(@) 32 T THRIE ® &9 R FaRu

How will you perform followings in a word processing
package:

(a) Applying Header & Footer

(b) Creating & running Macro

(c) Applying Bullets & Numbering.

a9 TF T gRfeT e o frefafaa wel W R w8
(F) ¥ AN FXR A

(@) BeR! ST q AT

(M) g dur F= any w

(a) What do you mean by Chart ? Explain various types of
Charts in spreadsheet software.

(b) What is a database? Discuss the advantages of database.

4215-S/300/KD/438 3 [P.T.O.



What are the objectives of cash management ? What are the
factors affecting the cash needs of a firm ?

TF TEEH ® F IR € 2w Frem # T
SavIFael ® T FW 9 FRE ¥ E 2

What are the exit routes available to venture capitalist ?
Explain the present position of venture capital financing in
India.

STW geifral # fon e # = o STes ¥ 2 ama
H IeM gS famOme @ o Rufy o gvemw

How are the benefits of merger shared between the acquiring
and target firms ? Explain with suitable example.

sffa F= I 7 afem e @ ot faog & oy =
FeaW Y R W 2 2 SugE SR g 9EEu

What are the assumptions and implications of NI Approach ?
Is there an optional capital structure as per NI Approach ?

TA.3TE. 3fteshiv 1 9Romd a9 99E F1 § 2 1 TR
FfeFm # TR FE Awfevw got e § 2

4216-S/200/KD/706 4

Roll No. .....cccevnnnene Total Pages : 4
MDQ/D-16 4216-S
FINANCIAL MANAGEMENT AND POLICY
Paper — MC-602

Time : Three Hours]

[Maximum Marks : 80

Note : Attempt five questions in all, including Question No. 1

e :

1.

which is compulsory.
FA 9T Y B IW Afw wT = 1 e S

Compulsory Question
(3FErEd )
Answer the following :
fm & Iwm difsw
(i) What are the goals of financial management ?
g wev & @ @y € 2
(ii) Define Financial Indifference Point.
forim SSEdar fag &1 ot saRw
(iif) What are the advantages of Factoring ?
dwflr ® o oaw § 2
(iv) Explain the broad areas of Corporate restructuring.
FROARE EET & g &5 9 gngEul
(v) State and discuss the post-merger problems.
faer-gvema weenell #t SaRY T S W = Fifvw
(vi) What are different types of cash flows associated with
capital budgeting process ?
Y5t a2 AR FW &) whRear @ T fafas TR @

TFY Ya® ®/1 T ?

4216-S/200/KD/706/Trans. [P1



(vii) Why is dividend policy important for a firm ?
w frem & fau amiw i e Tewgf € 2

(viii) What are the different approaches to financing of
working capital requirements.
FrEtha gt = sTavgwast & fagumm & fafi=
Fhewm ¥ 2

(ix) What is Operating Leverage ? How is it calculated ?
HaeHE SHeM w ¥ 7 TR M hd &t
iy

(x) State the role which receivables play in the overall
financial picture of the firm.

= frem & doul fadm fag o wiftal gro faad s
e i ® qAR)

A project under evaluation is thought to involve a medium
degree of risk. The risk-free discount rate is 4% and the
appropriate risk premium is believed to be 6%. The project
costing ¥ 1,000 has the following estimated NPV and the
probabilities of different economic conditions :

Market NPV NPV Probability
Conditions at 14% at 10%

Good T 1,775 < 1,487 0.10
Average 1,220 989 0.20
Medium 665 492 0.40
Poor 110 -5 0.20
Bad —445 -503 0.10

Analyse the expected NPV and its variability.

4216-S/200/KD/706 2

T qHiFa odF ufgem § awm g9 & Sifew i
T | NEH-TF G2 F1 W 4% € o ITE few
Hfem & 6% w2 F1 favam 21 afE@em ore 5 1,000 B
fafs= onftier feufeai & srmifa el qen wiitrsand
frefafea € -

SR feafl | . TR wfaeRa
(14%) (10%)

TN T 1,775 T 1,487 0.14

rea 1,220 989 0.20

Ty 665 492 0.40

LCHE 110 -5 0.20

ErciRenc -445 -503 0.10

A TR F1 IS uiadaa w1 favewn wifsu)

Why is the cost of capital most appropriately measured
on after-tax basis ? What effect does this have on specific
cost of capital ?

TS w A F ST Iuged § F-UEE SER W
A A I ® 2 3@ get w fafte e W gaE
T # 2

"Walter's and Gordon's models are based on the same
assumptions. Thus, there is no basic difference between the
two models." Do you agree ? Why or why not ?

“oeeT gen MET ® Higa WA uNonst W osmHfE 2
37a: I AT ® i go R qE 217 FM Y TEHa © 7
F o = TE ?

4216-S/200/KD/706 3 [PT.O.



frafafas STl w1 9F fRe wE § Fhw fol o
TEEF 2?7 ISE GN UL

(F) T qen fifsew ww

(@) Afim firEe

(1) =9 9 FAAH WX

(=) @ T 9 ™ (CAPM)

(¥) IR YAHH

8. The Shiv and Hari Corporations have the mo:oﬁsm expected
risks and returns for the next year.

Shiv Hari
Return(%) 20 23
Risk (Standard Deviation) 21 25

If the correlation coefficient between the returns of two
companies stocks is 0.4, find the portfolio risk when 50% of
funds are allocated for each stock. Also determine the
correlation coefficient necessary to reduce the level of portfolio
risk by 25%.

R wrs 3R FAEH F T Ty Fefafaa siftew @
g F IER T

fog g
I (%) 20 23
wifem (v fa=em) 21 25

I & FuE F wiE ® Al ® S geEEy e
0.4 B, 91 T Wie & fou s0% @ st fFa s
A9 dewieEl SifEd w1 9[ Fie wewifeE Sifew w
25% FH FH F faU AEavas WEHSU-TOIE I F@
EFIEI

4217-S/250/KD/437 4

Roll No. .o Total Pages : 4
MDQ/D-16 4217-S
SECURITY ANALYSIS AND PORTFOLIO
MANAGEMENT

Paper : MC-603

Time : Three Hours] {Maximum Marks : 80

Note : The first question consisting of 10 parts of 4 marks each is
compulsory. The length of each part should be restricted
to one page. Attempt any 4 questions from the remaining
7 questions carrying 10 marks each in up to 5-6 page length
each.

e . wE "em | Afed ?, faed <@ am, e WR s
F1 B TIF A H IW TH Y a6 Wi 2 =ew
Y W A W ° R O we % S difse W
TAF 10 3F FT & AW TH TP FT IW 5-6 TS
TF o g Gy

Compulsory Question ( 3T amd wg)

1. Write notes/answer the following questions :
(a) Investment and speculation
(b) Measuring security return
(c) Systematic risk
(d) Private placement
(e) Book building process
(f) Strong form market efficiency
(g) Capital market line
4217-S/250/KD/437/Trans. [P.T.O.



(h) Security market line : 4.
(i) Efficient frontier

(j) Fama's decomposition of portfolio performance.

Frafafes v swAR fafan .

(%) frEw qen gamsh

(@) vfayfa =9 1 "=

(M) fowifer Sifam >
() fsft R W IR e

(%) g fafegn afwan

(F) A9 Y9 99K G&yel

(B) Toft AR =

() vfayfa SR A

Calculate the duration for Bond A and Bond B with 7% and
8% coupons having a maturity period of 4 years. The face
value is Rs. 10,000. Both the bonds currently yield 6 percent.

VS A 1 FI9€ B FT TR &Y TOAT, 7% TA 8% FHUA
F WY 4 Fu w1 RuEE o ® Wy B BE i
T. 10000 Bl T4 0 Tdum § 6 wiawW 1 wRAed

&

Growth of share of company A is 15%, and its dividend payout
ratio is 40%. Its risk (standard deviation) in growth rate is
5%. The P/E ratio is 22.5%. Use Whitbeck-Kisor model and
suggest the investment decision regarding this share.

FT A F IR B GG 15% €, 91 THH A9 ST
A 40% B! gfg R THR SfEH (AFF fa=ed) 5%
21 P/E o9@ 22.5% ) faedw-fewr diew 1 IwEm
FITT a2 39 IR F 9R H faw fofa = g i

- 6. What is meant by P/E ratio? What is the logic of using this
(F) R concept in investment decision? How does ratio analysis reflect
() B 1 TEwIfaa JevF w1 fases the financial health of a company? 4
. . o PE 9 F T e 37 fow fofa ® @ uwon @
2. M.umﬁmonwm mamwrom.mao%mm_::m mmoMW:Wm in Primary Market. Also T R TE B ST foverTor 5 @ A TF B
ist ou i . .
gu . elines os.vc ic issue 3 R 3
wefier AR F sfafeal ® =R w fafil @ ol
Ffw ufees 3 W I B feon-few = g s 7. How does the knowledge of the following tools help in
| investment decisions? Explain with example.
(a) Support and Resistance levels
3. Give outlines of Depositories Act, 1996. Briefly explain (b) Advance-decline
Depository mechanism. (¢) Tops and Bottoms
fedifrett T, 1996 F Taitra Fifom) fedfoet frams (d) CAPM
# st geg o T (e) Treynor Index.
4217-S/250/KD/437 2 4217-S/250/KD/437 3 [P.T.O.
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Time allowed : 3 hours] [Maximum marks : 80 .

MDE / D-16
ORGANISATIONAL BEHAVIOUR
Paper-MCIT-101

Note : Question No. 1 is compulsory and carries 40 marks.

1.

Attempt any four questions out of remaining 7 questions
and each question carries 10 marks.

(@) CausesofIndustrial 8<o._:mos

(b) F g&oum of scientific management.
() Oowagmg of Sociology to O.B.
(d) Biological base of personality

(e) Culture and Personality

(®) Process of Perception

(g) ConceptofLearning

(h) Group Status

@ Proxemicsand Group dynamics

() Analysisof games.

What is OB ? Explain neo-classical approach to OB.

What are the differences between the psycho analytic and social
learning theory of personality ? Explain the merits of social learning
theory.

How does selectivity affect perception ? Give an example of
how selectivity can create perceptual distortion ?

10281 [Tumover

(2)

5. Whatis cognitive learning theory ? How this theory is able to

understand the behaviour of employees in an organisation ?

6. What is relationship between group cohesiveness and

productivity? Explain the consequences of group cohesiveness.

7. Whatis the concept of T.A.? Explain the ego states.

8. Whatis the scope of OB ? What are the merits and demerits of

OB?

10281
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MDE /D-16
BUSINESS ENVIRONMENT
Paper-MCIT-102

Time allowed : 3 hours] [Maximum marks : 80

Note :
qe

Attempt 5 questions in all. 1st question is compulsory.

G 5 797 Fiorg | g7 Fear 1 sifard &

1.  Answerthe following inbrief:

@
®)
©
@
@©
@
®
)

@
)

Why is it important to study business Environment ? 4
What are the benefits of environmental scanning? 4
Outline the main objectives of five-year plan. 4

What do you understand by corporate moﬁanoo ? 4

Explain the concept of fiscal deficit. 4
What are small scale industries ? 4
What is the role of industrial ﬁoz& ? 4
What are the functions of consumer protection
council .w 4
How is FEMA different from FERA ? 4

What is the importance of RTI Act in the present

scenario ? 4

nﬂ%awmﬂﬂawwmmnm"&wau

(®)

(@)

()

110282

AL AT F AT F AEEye 7 4
qatERelEg FHAEC & @ H; g ? 4
Yeag AT B g evdl @ @i B 4

— (Trans.) PT.O.




(2)
(m) e ee & o gEed § 7
§) TEENE U FH SEURT H AT Hi
g I % SE w7
(8) ol My # gfte =7 8 ?
(@) S d@wEe ofwe & @ e § 7
() FEMA f5d 7R @ FERA @ B 8 ?
(%) o ofgea & RTI siftfew &1 wea @ 8 2

How will you prepare the interaction matrix of different

environmental factors ? What is its significance for the business

environment ? : 10
Rim gEEchE FRE @ sahen e @ RET omy 33

FO ? AEAAS qOET $ W IO ged F e ? 10

“Disinvestment in PSUs is back on track.” Explain the statement

with suitable example. 10
“gRetE 83 JwEd § RFRY Tl | e S B Sugw
Tl T Fue @ e Hivm , 10

“Every organization is supposed to &mowma,mm social

responsibility.” Discuss the statement in the light of present

scenario. ‘ 10
“IR% Hed | g Syl & fafs @ orden B adum
%mﬁwnﬁﬂmaﬁ%wﬁﬂ%f 10

1032
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(3)

5.  “Economic planning is important for the development ofa

developing country like India.” Discuss. Also highlight the major
initiatives under the 12th Five Year Plan in this regard. 10
‘o S8 Readia 2w 3 w3 R oniie Freaee Tewe!
217 Rdem Bt 3 g & 124t deedi A @ arde g
w@a: Romelt W o g st 10

6.  What is the role of monetary policy E. Indian economy ?

Under this policy what tools are being used to control the
economy ? . . A 10
‘o wdeEen § AR A B i @ 2 o AR 3
i rdegaen & Frgaror & Rig ReT Suseell &1 Swae fen s @
g7 10

7.  Whatisindustrial sickness ? What are the causes of industrial

sickness ? What are the measures taken by Govt. of India to

o<o8o80§mu8£o9e 10 |
%ﬂgﬁwv%gw%ﬁwqﬁg
&ﬂﬂwwgﬂﬁﬁﬁm&@aﬂﬁaﬁwv 10

8.  Discuss the major provisions of Competition Act. Upto

‘what extent this Act is able to ensure fair competition in the
market ? 10
SR s 3 g gEEE A e @R e 3 ofe

yiditren i &6 0 58 afufvem few dm @ mew 37
10

10282 |~ (Trans.)




8.

(4)
Write notes on the following :

(a) Precision and Accuracy

(b) Expected profit under certainty.

Frefofead @ fReafra fofew -

(%) G O IRYSAr
(@) Mitgear & ot onfdw @

[10283 |- (Trans.)

Roll No. ...
Printed Pages : 4

R 10283

MDE /D-16
ADVANCE STATISTICS
Paper-MCIT-103

Time allowed : 3 hours] - [Maximum marks : 80

Note :

Attempt five questions in all. Question number 1 is
compulsory.

qe : g g 59T Ffe) 597 q. 1 afrard 81

L0

(i)

(iid)

()

V)

(vi)

(vii)

10283

Compulsory Question (Sfard qs)

Distinguish between Median and Mode.
Titgw q Tge @ S @RE S
State the mathematical properties of standard deviation.

T Ree @ TR i @

Given that : y = a+bX; Interpret aand b, here.
Rar m@r @ & - y=a+bX; 7& am ba Fdww Fifmi

Two unbiased dice are thrown. Find the probability that
both dice show the same number.

&Wﬂms&@aﬂﬂ_ﬂvﬁﬂﬂaﬁwﬁ@ii
TF TN e g9 g ,

State the properties of wEonm& distribution.
ferdg faawor & o & Sw@ FI |

What are the parameters of normal distribution ?
yamF AT & e a4 g 7 |

Give the meaning of decision making environment.

foofg fmtor aramEer & ot SaETy

— (Trans.) . PT.O.



(2)
(vii) ~ State central limit theorem.
< dm g W I i |
(ix) Whatisarandom variable ? Give an example.
ughes o F B 7 0H e ARl
(x) Explain the meaning of dispersion with an example.
ﬁ 4x10=40
e ST Rl TRAT B ord 9 e ARTI 4x10=40

Calculate the first four moments about mean for the following
distribution : ,

X . 20, 25 3, 35 40, 45, 5.0

f : 5, 38, 65, 92, 70, 40, 10
Prefes R @ R0 W B wRY v SR MW @ R
Ffg y

X . 20, 25, 3, 35 40, 45 5.0

f . 5 38, 65. 92, 70, 40, 10
Explain the following :

(i  Relative frequency probability
(i) Subjective probability

@) Conditional events

(ivy Baye’srule.

frfafea i s $ivT ¢

() o ey i

i) Rt g

(i) @ =TI

Gv) a9 3 Fage

10283

(3)
Find Eo.vwogcmma\ of 5 successes in a binomial distribution

whose mean and variance are respectively 6 and 2.

o T R § 5 awadel & oidear 9 dife, s
e aon fERe mA: 6°ad 2 E

Write a brief note on statistical decision criteria.

ity Fofg Aere W odftrg feaelt e

What is sampling ? What vnmomcaobm would you take in
choosing a mmhww_a ? Why is sampling necessary in statistical
investigations ? .

Fred 1 8 ? w% el @ 99 & aw A9 & et ad 7
gt awdw ¥ Fredw omeaws =& B ?

From the following data, find the least suqare regression

equationof X on X, and X, :

X, : 10, 5 10, 4, 8
X : 16, 13, 21, 10, 13
X, : 3 6 4 5 3

3
Frfafe oies @ X, @1 X, W X, & J7 & Giemw g6
a1

10283

X : 10, 5 10, 4, 8
X, ¢ 16 13, 21, 10, 13
X, : 3 6 4 5 3
PTO
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MDE /D-16

FUNDAMENTALS OF INFORMATION

TECHNOLOGY
Paper-MCIT-105

Time allowed : 3 hours] [Maximum marks : 80

Note : Attempt any five questions. Q. No. 1 is compulsory.
@ ;T qT g7 B geT qew 1 g &

1. (@

(b)

©

G

©

®

®

()

Explain the meaning of outsourcing. 4x10=40
STSTRRGT & e HiR |

What are some of the output devices used in computers ?
Pl & JgFT GO ey JRdl 4 E ?

What is assembly language ? :

ST W g 7

What is bubble memory ?

o T A E ,

Differentiate between information and data.

gET au sitee @ d e Sk

What do you mean by ‘online processing’ ?

‘AN-ET TR @ oy F@ A @ 7

What are various types of application software used in
computers ?

Tl 7 ggF R R & adem divedaw & & ?
What open source operating systems are available for the
users ?

IErEdiel ® T B9 @ ol @i wEe yenRiEl Suwe
g7

102835

-Trans. [Tum over




o (2)
() Whatisan extranet?
TFEgRE 8§ ?
G) Whatiscommunity cloud ?
HGRE FSs & ?

. What are different hierarchies of memories in computer
‘ @%Bmwmxﬁﬁbaﬁwawﬁﬁomﬁ&oabmowgﬁéﬁmﬁﬁé.

| e Rt X el 3 R S wn ¥ ? FEE sk
3 o F@ § I 9fRE H e H |

. Explain the role of compiler, assembler and interpreter in software

systems.

FFdaT TR} FUReR, SRl al FTORK & P
R BT |

. Explainthe following :

(a) Batchprocessing

(b) Real time processing

(¢) Multi-tasking .
(d) Multiprocessor computing.

W_ﬂ@@ﬂm@ﬂgﬂwﬂnn
(%) = DT

(@) aries @99 TR
() = TR

(@) =& fEE FRT

. Define networking, What are some of the hardware and software

used for networking ?

Jeafin F R BT YeaRT B U TgEd g8 eRddl
giveaay 73 8 7

10285

(3)

6. What are various applications of information technology in

business ?

FaE #§ gE GeRe & R g @ E ?

. Write shortnoteson :

(a) :Distributed cloud
(b) Hybrid cloud
gt feaftrl faRaw -
(%) foafta Fmss
(@) d@at FMSE|

. What are some of the recent trends in 88@&@3 and oOBccn:mo

How will these trends influence the businesses ? Give reasons in

-support of your answer.

ﬂaﬁﬂmﬁqmqaﬂmwga“jﬂanmEWEﬁﬂaw.vﬁmaﬁmwuﬁ
yaRmi fea weR & gl &0 7 [ I B TR R I
HIEL

10285 -Trans.
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MDE / D-16
INTERNET & MIS
- Paper-MCIT-106

Time allowed : 3 hours] [Maximum marks : 80

Note :  Attempt five questions in all. Question No. 1 is

compulsory.

Ae ;g g g T 99T wE 1 s &

1. Explain the following:
Fr=foRaa #t agrem it

(a) IPaddress 4
o & a34 4

(b) Domainname 4
AT A 4

(¢)  Searchengine optimization 4
T IO SFRITHE 4

(d) Groupware 4
Iq a1 4

(¢) Extranet 4
TFERE 4

® HTTP 4
| TEREd 4
(8 Systemtesting 4
qoTTel e 4
10286 |- (Trans.) PT.O




| (2)
(h)  Video conferencing

4

Afd FhET 4

(@)  System approch 4

Ul I 4

G WWwW 4

WWW 4

2. Whatdo youmean by Internet ? List and explain the business

uses of it. , _ 10

FECIT § AIEH 1 RIS § ? 3HS FIEREK S & gE SR

o T R 10

3. Discuss the various types of information system. 10

el Ioel & faie 9eRt @ fadee S 10

4.  Whatdo youmean by information ? How information need is

identified ? Identify the different information sources for an

organization. 10

I & HUEH F A & 7 GI SEasahal B a3 P S

§ 7 uF W 3 R RlE g A @ weaw @t 10

S.  What are different risks involved in network and website

security ? How these risks are mitigated ? 10

| A7, qun deEEe g § atnfaa fafrs siftew @ # 2 g et

@ P g @ e B an B 7 10
10286

(3)

6.  Define documentation. Why it is required ? List various types

of documentation tools and discuss any one tool. 10

e B Rl B sE smavhal BT & 7 gaes
N % Rt yed B g TRe qw R o a9 @ fEee
g | : 10

7. Define MIS. Explain its characteristics. What are the reasons

for failure of MIS in an organization ? 10

MIS @ aftfte o gol Rwael @ e #iT @
Heq & MIS it s/l & e sRor a1 § ? 10

8.  Whatare the different issues involved in design of input, output

and processing of MIS ? Explain. : 10
gm&ﬁﬁé&ﬂ?ﬂﬂmﬁnﬂﬂmgwﬁm%

w7 A HiNg) , 10

10286 |- (Trans.)
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MDQ /D-16
FINANCIAL INSTITUTIONS AND
MARKETS

Paper-MCIT-301

Time allowed : 3 hours] [Maximum marks : 80
Note :  Attempt five questions in all. Q. No. 1 is compulsory.
e ;G G 59T F ) 997 e 1 st &)
1. Answerall the following @:Om,aoa inbrief:

(@  Define Financial System.

(b) Difference between Money and Capital Market.

(c)  Whatare main functions of SEBI,

(d) DiscussRoleof IRBI.

(¢)  Whatis meant by Merchant Banking ?

(®  Explain State Financial Corporations ?

(g) State Advantages of Mutual Funds.

()  Explain Asset Management Company.

()  Whatis meant by underwriters ?

() WhatisaBillof Exchange? 10x4=40

wAT & Freffes @9t et 3 o A

(%) fha gomh @ ol @

(@) 71w O a9k F A i

(1) 4P yeE wd o ¥ 7

(@) IRBI# sfreer & = $ifm)
10287 | — (Trans.) PT.O.




(2)
it ST @ wr awed & 7
T g Pt e @R
AT Bl % el H TRy |
SR S F P R B |
rptelt @ w1 awed § 7

(=
(@
(®
(=
(=
() Rfe R @ g2 10x4=40

vvvvvv

Discuss scope of Financial System. cSHmH istherole om financial

system in economic development ? 10

@$ﬂnsﬂqwmmmw@%ﬁqﬁﬁa_sﬁﬁqﬂﬂﬂmmxané%

B T SR Y ? 10

What is Capital Market ? Discuss its main functions and

components. 10

Toft IR+ ¥ 7 3@ g w qur vewt 9 R SR 10

State features of Stock Market in India. What is the procedure
for making sales and purchases at the Stock Exchange? 10

ﬁﬁwﬁﬁ&ﬂ%%m@aﬂ%%ﬁﬁ_@ﬁgﬂaﬁmﬁ
A B FE D U e a7 10

Why IDBI was set up ? Discuss the role of IDBI in accelerating
the growth of Industries in India. 10
vawﬂggﬂi%wﬁam%wgﬂwﬂﬁw
¥ IDBI & gt  fraem s 10

10287

(3)

6.  Explain the service provided by Merchant Bankers in India.

What recent developments have taken place in merchant banking
establishments in India. 10
A & At S g Suere FwiE wE darel ) awEn B
Sﬁmﬂ?ﬁm@w%@&m%&%%ﬁmﬁw:o

7. Discuss types of mutual funds. How a mutual fund scheme

is designed, Bmawooaa and launched ? 10

ﬂmﬁa@wﬂ&%gﬂ%@f@ﬂg@@ﬁ%
WS ST H AEEE, RUOE qor oy R wr & 7 10

8. Whatis SEBI? Discuss the functions and Power of SEBI. 10

@%ﬁqw.v@%wﬁ&mﬁﬂgﬁmwﬁ%@ﬁ 10

10287 |~ (Trans.)
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MDQ /D-16

SECURITY ANALYSISAND INVESTMENT

MANAGEMENT
Paper—-MCIT-302
[Maximum marks : 80

Note : Attempt five questions in all. Question No. 1 is

compulsory. Every sub-part of question no. 1 is of
4 marks. Attempt any four questions of 10 marks each
out of remaining seven questions.

(i) Explain the difference among investment, speculation and
gambling, |

(i) Explain the concept of intrinsic value of equity share.

(i) Describe the advantages of listing of securities on Stock
Exchanges.

(iv) Explain Exchange Traded Fund (ETF).

(v) Whatisrisk diversification ?

(vi) Discuss the role of depositories in securities trading.

(vii) Explain how a transaction is settled under the rolling
settlement system.

(viii) What is meant by yield to maturity ?

(ix) Whatis book building ?

(x) Explain how the concept of new information relates to the
EMH.

What are the investor’s objectives in investing his funds in the
stock market ? Discuss briefly different stages of investment
process.

How is risk measured ? What are the sources of systematic and
non-systematic risk ?

10288 [Tumover

(2)

Define the new issue market. How is it related to the secondary
market ? Also discuss the recent trends in the primary market in
India.

Write a brief note on the SEBI guidelines on public issue.

The value of a bond is equal to the present value of its expected
cash flows. Elucidate with an example.

Select an industry of your choice and do the industry analysisin
present economic scenario.

Explain in detail the Dow Theory and how it might be used to
determine the direction of the stock market ?

10288
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MDQ /D-16
- OPERATIONS MANAGEMENT
Paper-MCIT-303
Time allowed : 3 hours] [Maximum marks . 80 .

Note : Attempt five questions in all. Question No. 1 is
compulsory and answer to these questions should not
exceed half page. The candidates are required to attempt
any four questions out of remaining seven questions and
each question carries 10 marks.

A g o 997 g 99T G | SfEr & @ &7 997 o
aav e g & Sifye e BT @R | ghHr # 9y g
goit F & 9 GI¢ 797 #e7 & ST T9% 597 10 o7H F &4

1. Write short answer of the following. Each question carries
4 marks.

(1) Define O,vom&csm Strategy.

() = Explain Product Life Cycle.

@ii) Define Plant Layout.

(iv) Discuss Scheduling in Services.

(v)  Explain the concept of Inventory Planning.

(vi) Distinguish between Design Capacity and System

Capacity.

,?5 Explain CPM.
(viii)  Discuss Classification of Inventories.

(ix) Explain Fixed Order Quantity (FOQ).

(x) Discuss Forecasting Methods.

10289 |- (Trans.) , PTO.




(2)

Frefofe & dftng swr e gd® 99 $ 4 9% -
) LEE TG B e HiR |

Gi)  TE NET-Tm a S BN |

gy 99 A-oT9T & Ui FIR

(v) @aret ¥ sIgdET H R Ak

&y TR W @ sraERen @) s Hifm

(Vi) SifERed g TR SOTCR e & e R i
(Vi) CPM %! amen #iv | |
(vit)  FRE & Ffwer A REea Hifvw

(ix) R smy aEn (FOQ) & = Hikv |

x) wAfrsrrm iy @ R AR

Explain. in detail, Types and Characteristics of Manufacturing

Systems.

faformter gonferdt & wert e RiShwaet! &t R gEs rear Hif |

Write noteson :

(a) Product Design (b) Forecasting Errors
P @ Rufri fefeg

(®) IR ARERY (@ wleoswe Al

Define Capacity Planning and Control. How can operations
control their capacity level.

ggﬁﬁﬂm&%g%*ﬁaﬂﬁmﬁnw

10289

- (3)
Erplainthe following :
@ Productivity
{iy  Functions of Inventory Controi

B

G TR REET R owE

Write noteson :

() Fixed Order Cycie (FOC)
(i) Inventory Control

Pre @ feafral R

() R sRw =% (FOC)

@ e P

Discuss Plant Location. Explain the factors affecting the choice
of Plant Location.

ﬁm%ﬁﬁ%mﬂﬂ%ﬁmﬂ%ﬁﬁmﬁﬁﬁm

FH T FH H AR BRI

Explain the following :

{{) Operations Management as an Fﬁ?mﬁgmosm_
imperative

(§)  Materials Requirement Planning.

Frafefes @ amen HIC :

0 @ JR-EEiaE Ry % w0 F gEE 99

() umf sEvEEa FEe

[gpeep~prampany |

10289 { (Trans.)
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MDQ / D-16

VISUAL BASIC AND SQL
Paper—-MCIT-305

[Maximum marks : 80

Note : Attempt five questions in all. First question is

7e

1.

(a)

(b)

©

compulsory. Answers to all the parts of first question
should not exceed half page.

% G 997 ARG | JeT T Sifvard &1 e ge @ el
% IuY 9 7o & offe & & @Ry

Compulsory Question (TRt 5¢7)
What do you mean by event-driven programming ?

g wifea ST & e oAl § ?
What is the purpose of immediate window ?
e favSt @ w3 B 7

Explain working of select-case statement using suitable
examples.

JUgAT IS H I(ER HA §Y select-case FAT mw :

- il & arem Sk

)

©

®

Comment on the need of MDI forms.

MDI gt i stEggd W el #if |
Differentiate between subroutine and functions.
qEEE a9 GFF & a9 g B

Explain procedure to specify constraints in SQL using
appropriate examples.

SUGHT AN H ST FXQ §¢ SQL 7 Freneff i @ w1
e # e )

10291 }-Trans. - [Tumover |




(2)

(& How canyou create views in SQL ?

SQL # &y 59 R & JF B A I a9 § ?
- (h) WhatisPL/SQL?

PL/SQL w1 & ?

@ Whatisthe purpose of cursor in PL/SQL ?
PL/SQL & #&R &1 SR@ Fr 8 ?

() Differentiatebetween SQL and PL/SQL. = 10x4=40
SQL @ PL/SQL % 9 a=X #ivm | 10x4=40

Write a small program in VB to create a calculator that performs
the function of addition, subtraction, multiplication, division m__ozm
with +/—(changing signs), and clear. The calculator must have
decimal point as well. Write down the various functions and subs
for this program. Also show the design of this calculator. 10
@ S 3 Rt @ e VB § o o S R o 4,
G, O, ST & Y-8 +/—(Fge afteds) aen R @ i
| degae] § areE g ot A 9T 3@ sam B R Rk
TRl T T R | 39 degae @ afew & o R 10

Describes meaning of following VB key words/phrases/
Statements with help of example.

(@ Public (@) Private

@) Static (iv) OptionExplicit

(v) Variant | 10
T ) wE @ PR VB aw ae e e $ o
F AU HIC ,

() Public (i) Private
(i) Static @v) Option Explicit
(v) Variant 10

10291

(3)

4. Describe various ways of connecting VB with database. Using

any one method, create a project for maintaining student
database. 10
SEreE % WY VB # HdiiE B 3 Rf alet @ vl iR
foemdt sreee tE-weE & R o S @ e S e ki e

ST XA gY BT 10
S. ExplainIDE of VB in detail. 10
VB % IDE &t are feiryds Hivg | 10
6. Whatdo youmean by Trigger ? Discuss the various triggering
events using suitable examples. 10
form & eyt 1 diad @ ? SUg SR Y IWNT B gU Rl
feiRer geamelt & = Fivw) 10

7. Howjoining is performed on the table ? Explain the various types

of joins with the help of suitable examples. 10
el WP WER & wEe @ Feed e S B ? Suge
IR H oHEEAT 4 wAeWl & RN s @ e St

10

8.  Explain the following with suitable examples : 10

(® Drop, Delete and Truncate Command.

(i) Alter and Update Command.

SUgE el wied FrefoRed @ e v 10
@® Drop, Delete @1 Truncate F9Ivg |

(i) Alter@=n Update FE |

10291 |- Trans.




(b)

(4)
What is a relation in a relational data base ? Define

Domain, attributes and tuples ?

ﬁwﬂﬂaﬂﬁdwﬁﬂﬁ@N%ﬂﬁmﬁﬁmﬁ
Tied O S |

Describe any two applications where you will make use
of arelational data base and how ? (2x5)
Rt @ cRedeed @ o A B Y T R
TeRE F IWEM ) aw B R q #0 ? (2x5)

8. Describe the SELECT, PROJECT and JOIN operations of

Relational Algebra with example. (10)

STl Gid Ry SomE B Riee, Node T ST e
T @ ol #fm o (10)
10292 | — (Trans.)
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MDQ /D-16

DATA BASE MANAGEMENT SYSTEM

Time allowed : 3 hours]

Paper-MCIT-306
[Maximum marks : 80

Note : Attempt five questions in all. Q. No. 1 is compulsory.
Attempt any four questions out of remaining 7 questions.
Az ;g G AT B geT & 1 g 8199 7 5o 7 9 e
qIC 7997 FIT | |
Compulsory Question (i ¢7)
1.  Explainthe followingin cmmm : (10x4)
i & PrfiRed ) e @it c (10%4)
() What are the advantages of a DBMS ?
DBMS & @ F1 8 ?
(i) Whatisaprimarykey?
e A R ?
(i) What s the difference between Database Administrator,
Database Designers and End Users ?
SRR YAEF, ST b T AR ST B
dra 1 o 7
(iv) Listany four application areas of Database system.
e T @ P AR SR A9 @ e SR
(v) Whatis the significance of an ER model ?
uF ER dfedt & 7ed #7127
10292 |- (Trans.) PTO.
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(2)

(vi) What are subclasses and superclasses 5, Enhanced
Entity-Relationship ?
iR sRam-d9y 7 Suad @ afyest @@y ¥ 7
(vi) What is the difference between an attribute and value
set ?
U Uge o [ G & 49 R/ K 8 7
(vi)  What do you mean by entity integrity constraint ?
AR THIAT Ay | A A B 7
(x) Why are duplicate tuples not allowed in a relation ?
Rl G § ol Tuew @ o T ¥ 2
(x) How do you characterize a Network model ?
T Hegs Afed # AN W mER Ry o e gu et
HA ?
Define the following terms : | (10)
(a) Datamodel (b) DBMS languages
(c) Database schema
Frafafga o & oo AR (10)
(%) e dAfEa (@ DBMS #mm
(M) srew swar
(a)  Whatisthe difference between logical data independence

- and physical data independence ?

B ?

(3)

(b) Describe the three-schema architecture. Why do we
need mappings between schéma levels ? (2x5)
B-wRE AR F v BRI s RE w F a9 e
At @ sEEEm A& e ¥ 2 (2x5)

(@ memE the difference between an entity, anentity type,
and an entity set. When is the concept of weak entity

used in data modeling ? (5)

T A, T ARdE FHR 7 0% ik e B a9
SR Bl e o | st Asfim 7 g faw & Gued

F ITET FH R &7 : %)
(b)  Discuss the main types of constraints on specializations
and generalizations. - : 3
RN T AR T R § g @
feRermT i | , ®)
Draw an ER diagram for a company database. Consider the
entities, attributes, and relationships of your choice. (10)
TH FH! S B o1 o5 ER R TR0 oo geg 3 ot
Qfeerdl qun g H agRaT ST a0

Show the results of UNION, HZHmemadQZ and
DIFFERENCE operations on a database schema of your

~ choice. (10)

! THE Bl U SN FRET W I, FE@EE aur RE
whearall & oRomEt & e - (10)
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MDE/D-16 4605

CLASSICAL MECHANICS
Paper—I

Time : Three Hours] [Maximum Marks : 55

Note : Attempt five questions in all. Question No. 1 is compulsory.
Select one question from each unit.

Compulsory Question

1. Answer all the following :

(a) Highlight the need of phase-space diagrams for
dynamical systems. 2

(b) Give the physical significance of Hamilton's
characteristic function. 3

(c) State and prove the condition under which Hamiltonian
is a constant of motion. 3

(d) Why Legendre transformation is vital in mechanics ?
Mlustrate your answer with an example. 3

UNIT-I

2. (a) Derive Lagrange's equations of motion using Hamilton's
principle. 6
(b) A particle of mass m is governed by a potential energy

1
Vi y, ) = kG + 37 +20)
and a constraint given by the equation

2x+3y+4z+5=0.

Find equations of motion of the particle. 5
4605/150/KD/859 [P.T.O.
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(a) Define Rayleigh dissipation function and hence using it,
find Lagrange equations of motion for a dissipative
system. 6

(b) The bob of a simple pendulum moves in a horizontal
circle. Show that the angular frequency of the pendum is
a constant of motion. 5

UNIT-II

Derive differential equation of orbit in a central force field.
Explain the classification of orbits also. 11

What are constants of motion ? Identify constants of motion
for inverse square law of force. Hence obtain the equation of
orbit using one such constant of motion for the Kepler's
problem. 11

UNIT-I1I

State and prove Euler's equations of motion of a rigid body.
Show that a set of infinitesimal rotations form a vector. 11

(a) Show that the real orthogonal matrix specifying the
physical motion of rigid body with one point fixed always
has eigen value +1. 6

(b) IfT be the kinetic energy, G be the external torque about
the instantaneous axis of rotation & @ the angular

velocity, then prove that

m.m”o.m&
dt

(38}

8.

UNIT-1V

What are Action angle variables ? Describe the simple

harmonic oscillator problem using these variables. 11

(a)

(b)

Within the framework of Legendre's transformations,
derive Hamilton equations of motion. 6

Determine the Canonical transformation defined by the
generating function

1
F (4, Q, :nmse% cot Q. 5

4605/150/KD/859 3
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MDE/D-16 4606
APPLIED MATHEMATICS
Paper-II
Time : Three Hours] [Maximum Marks : 55

Note : Attempt five questions in all. Q. No. 1 is compulsory.
Select one question from each unit.

Compulsory Question
1.  Attempt all the following :

(a) Show that J,(x)= m J1(x) = Ty (x). 2
x

(b) Check whether the function AZ) = Z* is analytic or
not. 3

(¢) Find Laplace transform of the function (3 + 1)2. 3

(d) Show that if A is conjugate with both B and C, then B
and C are conjugate with each other. 3

UNIT-1
2. (a) Establish the following recurrence relations :

@) () =T, (x)=21(x).

G) -x"7T,,(x)= W [x™"] (x)]. 6

(b) Find an expression for Yy (x) and uuc EC&. 5

4606/150/KD/860 [P.T.O.



Using recurrence relations, show that P, (x) satisfies

Legendre differential equation. 6
(b) Prove the orthogonality of Legendre polynomials. 3
UNIT-1I
4. (a) Using generating function, obtain an expression for
Laguerre's polynomial of order n. 6
(b) Establish the orthogonality of Hermit's polynomials. 5
5. (a) For a function f(z) = u(x, y) + iv(x, y), show that if the
Cauchy Riemann conditions are satisfied and the partial
derivatives of u(x, y) and v(x, y) are continuous then
the derivative f(z) exists. 5
(b) Using the method of contour integration, evaluate
2r
1= [ — 2 0<a<l. 6
5 (I+a”)—-2acos ()
UNIT-III
6. (a) If the Laplace transform of F(?) is f{s), then prove that
the Laplace transform of WED is given by
H. o
LEFO) = [rea s
(b) Find the inverse Laplace transform of
Fl)= —
QQN + CN . 6
4606/150/KD/860 2

7. (a)
(b)

8. (@

(b)

(b)

Describe in detail the Gaussian law of error. 5
Explain the method of least square to fit a polynomial
of degree n through given data points. 6
UNIT-1V
Define the terms (i) Group, (ii) Cyclic group, and
(iii) Abelian group. Give examples of each. 6
What do you understand by Class ? Show that all the
matrices forming a class have the same trace. 5
For a finite group show that every representation is
equivalent to a unitary representation. 6

List various rules to construct character table of a group.
5

4606/150/KD/860 3
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MDE/D-16 4607

APPLIED SPECTROSCOPY
Paper-III

Time : Three Hours] [Maximum Marks : 55

Note : Attempt five questions in all, selecting one question from

each unit. Question No. 1 is compulsory.

1. Compulsory Question

@\

(b)

(©)
@

(e)

(b)

The intensity of ] = 0 —» J = 1 is often not the most
intense rotational line. Why ? 3

What are the conditions for a vibration to be Raman
active? 2

Define Progression ? 2

ESR spectrum is usually recorded in first derivative
mode. Why ? 2

Define spin-lattice interaction. 2

UNIT-I

Show that for a homonuclear diatomic molecule
composed of atoms with nuclear spin quantum numbers
L, that the ratio of the number of symmetric nuclear spin
functions to antisymmetric nuclear spin wavefunctions
is (I + 1/I). Comment on the value of this quantity for
I = 0 atoms. 3

Show that pure rotational spectrum of a rigid rotator is
expected to consist of a series of equidistant lines. How
this spectrum is different from non-rigid rotator? 8

4607/150/KD/1438 [P.T.O.



(b)

4. (a)

(b)

(b)
(©)

(b)

What are various fundamental vibrations? Discuss their
symmetry. 5

Obtain an expression for the energy levels of a diatomic
molecule, assuming it as an anharmonic oscillator. 6

UNIT-II

What is Raman effect? Explain the following
observations : The ratio of the frequencies (measured
from the Rayleigh line) of the first and second pure
rotational Stokes Raman lines of 160, is 5/9. This ratio
is 3/7 for C160, and 3/5 for 170,. 5

‘Discuss the rotational fine structure of Raman Spectra.

6

With which type of spectroscopy would one observe the
pure rotation spectra of H, ? If the bond length of H, is
0.07417 nm, what would be the spacing of the lines in
the spectrum? The spin of the hydrogen nucleus is Y.
Does this make any difference ? 5

Define rule of mutual exclusion. 4

What are limitations of Raman spectroscopy ? 2

UNIT-III

What is the principle of ESR spectroscopy? Discuss
working of ESR spectrometer. What are the limitations
of ESR spectroscopy? 8

Define larmor precession. 3

4607/150/KD/1438 2

(b)

(©)

(b)

(b)

How intensity variations in vibrational electronic spectra
can be accounted for? Discuss. 4

What are the factors responsible for hyperfine structure

-in ESR spectrum ? 3

What is Born-Oppenheimer approximation? 4
UNIT-1V
Outline the principle of NMR spectroscopy. And obtain

the resonance condition. What are its applications ? 7

Calculate the magnetic field required to get a transition
frequency of 60 MHz for oxygen. (gy = 5.255,
Hy = 5.051 x 1027JT-1, 1 = 5/2) 4

The resonance fluorescence can be observed easily with
visible light but not with gamma radiation. Why ? 4

What is Mossbauer effect? Discuss the principle and
working of Mossbauer spectrometer. 7

4607/150/KD/1438 3
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MDE/D-16 4608

LASER PHYSICS
Paper-1V

Time : Three Hours] [Maximum Marks : 55

Note :

(®)
(©)
(d)
©)

2. (a)

(b)

Attempt five questions in all. Question No. 1 is
compulsory. Select one question from each unit.

Compulsory Question

What is pumping? Which types of pumpings are
preferred in solid state and gas lasers, respectively?

What is spiking behaviour of the lasers? Explain.
Explain mode locking in lasers.
Write a short note on semiconductor junction lasers.

What is laser induced fusion ? Discuss role of lasers in
isotope separation. (5x3)

UNIT-1

What are Einstein's coefficients? Discuss significance
of Einstein's coefficients.

What is homogeneous and inhomogeneous broadening?
Explain. - (6,4)

4608/150/KD/861 [P.T.O.



3. (a) Write a detailed note on the properties of laser 9. Explain:

beam. (a) Fundamental characteristics of high energy density

(b) Discuss the origin of line shape function. (7,3) beams used in material processing.
(b) Spatial frequency filtering.
UNIT-TI (c) Holography. 4, 3,3)

4. Discuss the following:
(a) Q-switched lasers.
(b) Mode stability criteria and modes in generalized

resonator. 3,9

5. What are laser rate equations? Discuss rate equations for
three level laser system. 10

UNIT-III

6. Write detailed notes on the following:
(a) Organic dye lasers.

(b) Excimer lasers. (5,5)

7. (a) Discuss CO, laser system in detail.

(b) Write a note on free electron laser. (5,5

UNIT-1V

8. Give detailed description of applications of laser
technology. 10

4608/150/KD/861 2 4608/150/KD/861 3



Roll No. i Total Pages : 3

MDE/D-16 4677

REAL ANALYSIS -1
Paper : MM-402

Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Select one question each
from Section-I to Section-IV. Question No. 9 (Section-V)
is compulsory.

SECTION-I
1. (a) Show that f € R(a) on [a, b], iff for every € > 0
there exists a partition P such that
UP f, ) - LP f, o) < e 8

(b) Suppose o increases on [a, b], a £ x, < b, O is

continuous at x,, fix)) = 1, and ix) = 0 if x = x,

Prove that f € IR(0)) and that .‘ fdo=0. 8

2. (a) Let feR onl[a bl. Fora<x<b, put F(x) = % £t dr.
g

Show that F is continuous on [a, b]. Also, if f is
continuous at x, € la, bl, show that F is differentiable
at x, and F'(x,) = flxy). 8

4677/4,300/KD/1616 [PTO.



(b)

(a)

(b)

(a

(b)

If r”is continuous on [gq, b], show that r is rectifiable,

b .
and A(r) = ._. _\3_&. 8

SECTION-II
State and prove Weierstrass M-test. Discuss the series

M sin nx
2
n=1 n
for uniform convergence. 8
If {f,} is a sequence of continuous functions and
if f, —f, uniformly on E, show that f is continous
onE. 8

Does every convergent sequence of functions contains
a uniformly convergent subsequence ? Justify your
answer. 8

If K is a compact metric space, if f, e {(K) for

n=1,2 3, ..and if {f,} converges uniformly on K,
show that {f } is equi-continuous on K. 8

SECTION-III

State and prove the Inverse function theorem. 16

(@)

(b)

Suppose f maps an open set E — R” into IR™. Show
that f € {'(E) iff the partial derivatives U\. f; exist and

are continuous on E for [ < i < m1<j<n 8
Explain Lagrange's method of multipliers. 8

4677/4,300/KD/1616 2

SECTION-IV

7. (a) State and prove Abel's theorem. 8
(b) State and prove Stirling's formula. 8
8. State and prove Stoke's theorem. 16
SECTION-V
Compulsory Question
4 .
9. (2 Bvaluate [xd([x]-x).
0
(b) State (only) Fundamental theorem of calculus.
(c) State (only) Cauchy criterion for uniform convergence.
(d) Give an example of a sequence of functions which is
pointwise convergent but not uniformly convergent.
(e) State (only) Implicit function theorem.
(D Define Contraction mapping and give one example.
(g) State (only) Tauber's theorem.
(h) Show that log T is convex on (0, o).
(8%2=16)
4677/4,300/KD/1616 3
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MDE/D-16 4678

TOPOLOGY -1
Paper : MM-403

Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all, selecting at least one question
from each Section and the compulsory question.

SECTION-I
1. (a) Show that the closure of a set A in a topological space
is the smallest closed set containing A. 8

(b) Let X be a non-empty set. Show that a collection B of
subsets of X is a base for some topology T on X iff

@ Ja=x
Ae B

(i) Given U, V€ B and x € u Nnv, 3 some
A€ Bsuchthatxe AC un v 8

2. (a) Show that the property of being a first axiom space is

a hereditary property. 8

(b) Show that every second axiom space is separable

but converse need not be true. 8
SECTION-II

3. (a) Show that the projection maps are continuous. Are

they closed ? Justify. 8

4678/4300/KD/1905 [P.T.O.



(b) Prove that a topological space X is T, iff its diagonal

4. (a)

(b)

is closed in the product topology. 8

Prove that a topological space X is regular iff Vx € X,

the set of all closed neighbourhoods of x is a base
for N.. 8
Let (X, t) be a topological space and let (X/R, 19) be
the quotient space of (X, 1) and R = {(x, y) : x Ry}.
If (X/R, 19) is Hausdorff, show that R is closed
is X x X. 8

SECTION-III

5. State and prove Embedding theorem giving full details. 16

6. (a) State and prove ultra filter principle. 8

(b) Let F be a filter on X and B < X be such that

AN B=#9 VAe F Prove that 3 a filter F, finer than

F and containing B. 8

SECTION-IV

7. (a) Show that a compact subspace of a T, space is

closed. 8

(b) Prove that a topological space X is compact iff every

filter on X has a cluster point. 8

8. (a) Prove that a compact T, space is regular. 8

(b) Prove that product of compact spaces is compact. 8
4678/4300/KD/1905 2

(b)
(c)
(d)
(e)

63
(g)
(h)

(Compulsory Question)
State (only) Lindelof theorem.
Prove that (A°)° = A° for every A C X.
Show that a T, space need not be T,.
Prove that union of two compact subspaces is compact.

Prove that if a filter F on X coverges to x, then x is a
cluster point of F.

State (only) Urysohn's lemma.
State (only) Tietze's extension theorem.

Are the projection maps open ? Justify your answer.
(8x2=16)

4678/4300/KD/1905 3
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MDE/D-16 4679

COMPLEX ANALYSIS-I
Paper : MM-404
Opt. (i)

Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Select one question each
from Seection-I to Section-IV and Q. No. 9 (Section-IV).
All questions carry equal mark.

SECTION-I

1. (@ If M a,z" is a power series, then show that the derived
n=0

oo

. -] .
series M: a,z"" has the same radius of convergence

n=1

as the original series.

(b) Define the Logarithmic function. Show that every non-
zero complex number has infinitely many logarithms
which differ from one another by an integral multiple
of 2.

2. State and prove Cauchy-Goursat theorem for multiply
connected region.

SECTION-II

3. (a) State and prove Cauchy integral formula for first order
derivative.

(b) State and prove Cauchy's inequality.
4679/4,300/KD/870 [P.T.O.



4. (a) State and prove Fundamental theorem of algebra. 8.

(b) If the function f(z) is analytic when | z | < R has the

oo

Taylor's expansion M a,z” then show that for r <R,
n=0

we have

2r oo
1 812 g _ 2.2
— JIsee) P do=Y|a, P r*.
0 n=0
SECTION-III
State and prove Schwarz's Lemma. 9.
(b) State Laurent's theorem and prove its uniqueness.

6. (a) If a > e, use Rouche's theorem to prove that the

equation e? = az" has n roots inside the circle | z | = 1.

(b) State and prove Inverse function theorem.

SECTION-IV
7. (a) Prove that the residue of ¢(z)/(z — a)™ at z = a is
o™ .
3. Also find the residue of i) at z = ia.

2n
(b) Evaluate ._.
0

dé

—_—— (a>b>0).
(a+ b cos )2 ( )

4679/4,300/KD/870 2

(a)

(b)

Show by contour integration

xmwsa ﬁ
&xu Glmév,avo.
.MRC% + awv 2a°

If w = f(z) represents a conformal transformation of a
domain D in the z-plane into a domain D’ of the
w-plane then show that f{z) is an analytic function of z
inD".

SECTION-V
(Compulosry Question)

Attempt all the following :

(a)

(b)
(c)
(d)
(e)
®
(8)
(h)

Find the radius of convergence of the power series

nh?
it

Define Smooth path m\Em Piecewise smooth path.
Define winding number of a closed curve.

State Gauss Mean value theorem.

State Maximum modulus principle.

Define (i) Pole (ii) Removable singularity.
Define Residue at infinity.

Define Cross ratio.

4679/4,300/KD/870 3



SECTION-V
(Compulsory Question)

9. (a) Define equicontinuous family of functions.

(b) State Kneser's theorem.

(c¢) Define Fundamental matrix.

(d) State Representation theorem for linear systems with

periodic coefficients.

(e) State Abel's identity.

(f) State Green's formula.

(g) Define the nth order equation.

(h) Define Maximal solution. (2%4=8)
4680/4,300/KD/871 4

Roll No. .......... e Total Pages : 4

MDE/D-16 4680

DIFFERENTIAL EQUATIONS-I
Paper : MM-405

Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Select one question each
from Section-I to Section-IV. Question No. 9 (Section-V)
is compulsory.

SECTION-I
1. (a) State and prove Cauchy-Peano Existence theorem. 12

(b) Show that f= y1/Z satisfies a Lipschitz condition on any
rectangle R of the form

R=|x|<a,b<y<c(a b, c>0). 4
2.  State and prove Picard-Lindelof theorem. State all the results
used in the proof of the theorem. 16

SECTION-II

3. (a) Prove that a necessary and sufficient condition that a
solution matrix @ of differential equation

X' =AX (te D
be a fundamental matrix is that
det P(t) #0 fort e L 8

(b) State and prove variation of constants formula for non-
homogeneous lincar svtem. 8

4680/4,300/KD/871 [P.T.O.



(@) If ®(r) is a fundamental matrix of the linear

homogeneons system

dy _
i Ay (tel)

and C is a complex constant non-singular matrix, prove
that ®C is also a fundamental matrix. Further every
fundamental matrix of the above system is of this type
for some non-singular matrix C. 8

Prove that a fundamental matrix @ for the linear
homogeneous system with constant coefficients

Mn Y
is given by
D) = (| 1] < o)
and the solution ¢ of above system satisfying

0Utg) =¥y (g | <o, | 35| < o0)

is given by
00 = (e~ Dhyyy (1] < o). 6
SECTION-III
Prove that a necessary and sufficient condition that n
solutions ¢,, ¢,, ........., ¢, of L,y = 0 on an interval I
be linearly independent there is that
Wby, 99 oo, 0,)O#0 (rel. 8
(d) If ¢y, ¢, ..., ¢, are n solutions of
n n-1
oW ZE a0 L2t hay=0 (el
dt” dr*”

4680/4,300/KD/871 2

where ag(r) # 0 for any ¢ € 1,

show that

WOy oo 00 = W(0y, ......0,) (1) exp .— - MM“W ds.

(8)

i)

State and prove Lagrange's identity.

Discuss variation of parameters method to find a
particular solution of non-homogeneous linear
differential eqn. of order .

SECTION-1V

State and prove basic theorem concerning the dependence
of solutions of initial conditions. 16

(a) Let U(s, u) be a continuous function on a rectangle

W“Ncm~muo+a._wlwo_mw.hﬁ_d?xvﬂ_nga

. b
@ =min4a, M [ - Then the differential equation

du

—=U(t, u), ulty)=

& (. u), ulty)=u,
has a solution u = u0(z) on [, Ip + o] with the property
that every solution i = u(t) of

du
—=U(t, u), u(t)) <
ar (t,u) u( OV Uy
satisfies u(f) < u°(t) on [7g, 2o + . 8
(b) State and prove Osgood theorem. 8

4680/4,300/KD/871 3 [P.T.O.
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MDQ/D-16 4909

MATERIAL SCIENCE-I
Paper-I

Time : Three moﬁ_m_ [Maximum Marks : 55

Note : Attempt five questions in all. Select one question from each
unit. Question No. 1 is compulsory.

Compulsory Question
1. (a) Why point defects are called equilibrium defects. 2

(b) The dielectric constant at optical frequencies arises almost
entirely from electronic polarizability. Why? 3

(¢) What are ferroelectric domains? 2
(d) Define soft optical phonons. 2
2

(¢) What is an elastic deformation?
UNIT-1

2. What are line defects? Elucidate various types of line defects

present in crystals. How they propagate in crystals. 11

3. (a) Discuss single crystal method of diffraction. 7

(b) What is reciprocal lattice? 4
UNIT-II

4. Define fracture. What are various types of fractures? Discuss
Griffith theory of Brittle fracture. 11

4909/150/KD/732 [P.T.O.



(a) What are Creep resistant materials? 5

(b) What is strengthening? Discuss various types of
strengthening mechanisms. 6

UNIT-III

Obtain an expression for local electric field at an atomic site.
How it is different from Macroscopic electric field. 11

What is Polarizability? Discuss the classical theory of
electronic polarization and obtain corresponding dispersion
relation. 11

UNIT-IV

Write notes on the following :
(a) Piezoelectricity.

(b) Antiferroelectricity. 11

Discuss first order and second order phase transitions. 11

4909/150/KD/732 2
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MDQ/M-16 4910

MICROWAVE DEVICES
Paper-I1

T Thre2 Houd [Maximum Marks : 35

N Ameoo S suestions in all, Question No. 1 is compulsory.,
S - 2zstion from each unit. All questions carry

I s T uestion
- = T..ndary conditions for wave equation
- -~ -nderstand by Travelling wave tube ?

- - .- .nderstand by Quarter wave transmission
- -~ - 2 amplification takes place ?

UNIT-I

SesTTe o oem: T refraction and reflection at the boundary
X e wn-niccaoag media,

'J

3. Wha x Oregie noidence ? Explain total internal reflection
and propzzzion between conducting planes.

UNIT-II

4.  What are Resonant cavities ? Describe Q of a cavity resonator,
on which factor it depends. How rectangular wave guides

work ?
4910/150/KD/733 [P.T.O.
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MDQ/M-16 4910
MICROWAVE DEVICES
Paper-I1
Time : Three Hours] [Maximum Marks : 55

equal marks,

1. OcSvEmE.w Question
(@) What are co::amQ conditions for wave equation ?
(b) What do You understand by HBS&::W wave tube ?

(¢©)  What do You understand by Quarter Wwave transmission
lines ?

(d) How Microwave amplification takeg place ?

2. Describe i detail the refraction and reflection at the boundary
of two non-conducting media,

3. What is Oblique incidence ? Explain tota] internal reflection
and propagation between conducting planes.

UNIT-I1

4. What are Resonant cavitjeg ? Describe Qofa cavity resonator,
on which factor it depends. How rectangular wave guides
work ?

4910/150/KD/733 [P.T.O.



5. For Half wave transmission lines deduce the solution. How
impedance matching is done using Smith charts ?

UNIT-111

6. Explain Velocity modulation and bunching in Klystron
operation. What is Output power and Beam loading ?

7.  Discuss in detail how backward wave amplifiers and oscillators
are made ? What are their applications ?

UNIT-1V

8. How wavelength frequency, impedance and power scattering
are measured in microwave devices ? Explain Faraday rotation
in ferrites.

9.  Write short notes on any rwo of the following :

(a) TRAPATT diode.
(b) IMPATT diode.

(¢) READ diode.

4910/150/KD/733 2



Time : Three Hours]

.......... Total Pages : 3

MDQ/D-16 49 H‘w

THIN FILMS AND VACUUM TECHNIQUES

Paper : III

[Maximum Marks : 55

Note : Attempt five questions in all, selecting one question from
each Unit. Question No. 1 is compulsory.

2.

Compulsory Question

Answer the following questions :

(a)

(b)

©

(d)

(e

Thin film deposition is always preferred in vacuum.

Why ? 2s
Define a Thin Film. How will you differentiate it from
a foil ? 2
What is the effect of pressure during thin film
deposition ? Explain. 2
What do you understand by the term 'Leak
Detection' 7 Explain. 2
How will you measure the vacuum of the order of
1012 Torr ? p3%)
UNIT-1

Discuss the RF heating and electron bombard heating
methods for thin film deposition. What are their relative
advantages and disadvantages ? 11

4911/150/KD/1760 [PT.O.



Explain the flash evaporation and exploding wire techniques
for thin film deposition. What are their relative advantages
and disadvantages ? 11

UNIT-1I
(a) What do you understand by Cathode contamination
problem ? How it will affect the deposition
process ? 6
(b) Discuss the relative advantages and disadvantages of
the halide dispropartionation and polymerization
reactions for deposition of thin films. 5

Discuss the basic principle and methodology involved in
ion beam sputtering and reactive sputtering techniques for
deposition of thin films. Give their relative advantages and
disadvantages. 11

UNIT-III
(a) Discuss the basic principle, construction, working and
methodology involved in Diffusion pump with suitable
diagram. 7
(b) Give the minimum pressure that can be achieved using
Diffusion pump. Discuss the process of measurement
of this pressure. 4

(a) Discuss the basic principle, construction, working and
methodology involved in an Ion pump with suitable
diagram. 7

(b) Give the minimum pressure that can be achieved using
Ion pump. Discuss the process of measurement of this
pressure. 4

4911/150/KD/1760 2

8.

9.

UNIT-1V
Describe the various materials which can be used in different
vacuum systems. Discuss their characteristics and explain
its significance for use in different systems. 11

Describe the vacuum systems which can be used in
microelectronics, metallurgy, packaging, optical and drying
industries. Explain the applications of these systems in each
of these industries. 11

4911/150/KD/1760 3
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MDQ/D-16 4912

SURFACE MODIFICATION AND CHARACTERIZATION

TECHNIQUES
Paper-1V

Time : Three Hours] [Maximum Marks : 55

Note : Attempt five questions in all, selecting one question from

1. (a)

(b)

(©)

Gy
(e

2. (a)

(b)

3. (a

each unit. Question No. 1 is compulsory.

Compulsory Question

What is the difference between scanning electron
transmission electron microscopy? Explain 2%

Explain the difference between ion implantation and
coating. 2Vs

Can you identify lithium in the silicon surface using RBS
technique? Discuss. 2

What is the principle of electron multiplier? Discuss 2

What is the effect of the Oxidation State of an element

on its photoelectron energy spectrum ? Explain. 2
UNIT-1

Discuss the basic components of an ion implantation
machine giving a suitable diagram. 5

Define Projected Range, Lateral Range, Projected Range
Straggle, Lateral Range Straggle and Total Range.
Explain the significance of Projected Range. 6

Discuss basic mechanisms of energy loss during the
process of ion bombardment of solids. 3

4912/150/KD/1771 [P.T.O.



(b) Discuss the process of Radiation Damage. 3

(c) Discuss the effects of ion implantation on the electrical

properties of semiconductor materials. 5
UNIT-II
4. (a) What do you understand by the energy width and shape
of backscattering spectrum? Discuss. 6
(b) Discuss the influence of thin film morphology on electron
attenuation. 5
5. (a) What do you understand by Electron Energy Loss
Spectroscopy? Explain the basic principle and its
working. 5
(b) Explain the basic principle and different modes of
operation of Atomic Force Microscope. 6
UNIT-I1I

6.  Discuss the basic principle, instrumentation, working involved
in Transmission Electron Microscope using a suitable diagram.
What are its applications? 11
7. (a) How will you differentiate between Glancing angle

X-ray diffraction with conventional X-ray diffraction?
3
(b) Discuss the basic principle, instrumentation and working
of Scanning Tunneling Microscope. What are its
applications? 8

4912/150/KD/1771 2

UNIT-1V

Explain the basic principle, instrumentation and working of
Secondary Ion Mass Spectroscopy. What are its applications?
11

What do you mean by Auger electron spectroscopy (AES)
technique? Discuss its basic principle, instrumentation and
working. What is the minimum detection limit of this
technique? 11

4912/150/KD/1771 3
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MDQ/D-16 4913

RADIATION PHYSICS
Paper-V

Time : Three Hours] [Maximum Marks : 55

Note : Attempt five questions in all. Select one question from each
unit. Question No. 1 is compulsory. Use of scientific (non-
programmable) calculator is allowed.

Compulsory Question
1. (a) List some of the important features of track detectors.3
(b) What are the possible causes of radiation exposure? 3

(c) Briefly discuss the mechanism of x-ray emission from
atoms. 2

(d) Discuss the concept of Track etching. 3

UNIT-I

2. (a) Discuss about the possible health hazards from the
exposure to nuclear radiations. 7

(b) Justify the units of cross-section to be that of area. 4
3. (a) What are the conventional sources of radiations? 6

(b) What are the characteristics features of Cosmic and Solar
radiations. v 5

4913/150/KD/734 [P.T.O.

4. (a)
(b)
5. ()
(b)
6. (@
(b)
7. (a)
(b)
8. (a)
(b)
9. (a)
(b)

UNIT-1I

What are the procedures to be followed for preparing a
safe radiation area ? 6

List the radiation protection procedures one should follow
in a radioactive environment. 5

Discuss the biological effects arising out of exposure to

high radiation dose. 7

What are the direct and indirect effects of radiation on

human body ? 4
UNIT-III

Discuss the principle and working of computerized axial

tomography. 7

Discuss the mechanism of X-ray fluroscopy. 4

Discuss the mechanism of magnetic resonance imaging
system. 6

What is the basic principle of radiation therapy. 5

UNIT-1IV

Describe the concept of radiation dose measurement
using ionization chamber. 6

What are the characteristic features of TL process ? 5

Describe the different methods employed for radiation
dose measurement. 7

Discuss the relevant features of Plastic detectors. 4

4913/150/KD/734 2
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N
MDQ/D-16 5063

ANALYTICAL MECHANICS AND
CALCULUS OF VARIATIONS
Paper : MM-502

[Maximum Marks : 80

Note : Attempt five questions in all. Select one question
from each section while Question No. 1 is compulsory.
All questions carry equal marks.

®
(ii)

(iii)
(iv)
v)
(vi)

(vii)

(viii)

Compulsory Question
When do we use the transversality conditions ?

What do you mean by Geodesic and its physical
importance ?

Define Cyclic coordinates.
Define Rouths variables.

Explain the generalized forces and the generalized
conservative system.

Explain Hamilton-Jacobi's Equation and its complete
integral.

Define Lagrange's bracket and give its properties.

What do you mean by Degree of freedom and its
advantages ?

5063/1,700/KD/1279 [PTO.



2. (a)
(b)
3. (a
(b)
4. (a)
(b)
5. (a)
()

SECTION-I

SECTION-III

Find the general solution of Euler's equation associated 6. (a) Derive Jacobi's equations and find its integrals.
with functional (b) Prove the Poincare’-Cartan Integral invariant.
b :
Ilyl= ._.¢ x(1+ vxwv dx. 7. (a) Prove the Donkin's theorem and hence obtain Hamilton's
9 . . Canonical equations.
mSH.o and give the solution of Brachistochrone problem. (b) A horizontal rack is in rotation about a vertical axis
Justify your answer. and a weight of mass m is in motion along the rack.
The force acting on the weight has potential n(r), where
Find the transversality condition for the functional r is the distance of weight from the axis of rotation.
:Euw_» £z, y)exp (tan~ y W1+ 2 dx, Determine energy integral and Hamiltonian.
X
where y(x,) = y, and the point (x,, y,) lies on the curve . mMO,EOZIZ ) )
8. (a) Give the definition of Canonical transformation and
y= 0. show that
Obtain geodesics on the surface of sphere. g=og+Pp, p=ag+Pp, af;-a,p#0
is canonical transformation.
SECTION-1I State when it will be free.
Show that the kinetic energy of a system may be written (b) Find the equation of motion of an oscillator with
in the form mnh+mmw
T=T,+T, + T, 'm 2
in usual notations. in the form g = A sin (¢ + B).
Discuss particular cases.
Determine the differential equations of motion of a 9. (a) Prove that for the time-dependent transformation to be
free particle in spherical co-ordinates; using Lagrange's canonical it is necessary and sufficient that all the time-
equations. independent transformations obtained from the
transformation by replacing ¢ with arbitrary value ¢ be
Derive Lagrange's equation of motions of a double canonical with one and the same valence C.
pendulum (simple) in a vertical plane. (b) Show that Poisson's W.Bowﬁm remain invariant under
Discuss the principle of Virtual displacements and the canonical transformation.
D’ Alembert's principle. Also give its applications.
5063/1,700/KD/1279 2 5063/1,700/KD/1279 3
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MDQ/D-16 5064

ELASTICITY
Paper : MM-503 (Opt. i)

Time : Three Hours] ) ~ [Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 is compulsory.
Attempt one question from each Section. All questions
carry equal marks.

1. ()

(b)
(©

(d)
()
®
(8
(h)

2. (a)

(b)

Compulsory Question
Define a tensor of order three and show that sum of
two such tensors is again a tensor of order three.
Explain comma notation and summation convention.
What is the geometrical interpretation of first strain
invariant ?

Explain stress vector 7! with a diagram.

Draw Mohr's circles. :

State generalized Hooke's law.

State Saint-Venant's principle.

What do you understand by an isotropic medium ?

SECTION-I |
Prove that gradient of a tensor of order 4 is a tensor of
order 5. Verify contraction law for this tensor of

~ order 5.

State and prove .ncomﬂ: law of tensors.

5064/1,400/KD/1643 . [PTO.



3.

(a) Prove that eigen vectors corresponding to two distinct
eigen values of a symmetric tensor A of rank 2
orthogonal.

(b) Explain curl of a tensor of order 2

SECTION-II
Define affine transformations. Prove that two equal and
similarly oriented rectilinear polygons, located in different
parts of an elastic body, will be transformed into two equal
and similarly oriented polygons in the transformed region
of that body.

(a) If the surface elements AC and Ac’, with unit normals
v and ¥', pass through the point P, then prove that the
component of the stress vector T” in the direction of v’
is equal to the component of the stress vector T in the
direction of the normal v.

(b) Explain examples of simple extension and shearing
strain.

SECTION-III

(a) Obtain the equation of stress quadric of Cauchy. Show
that the stress vector is perpendicular to the tangent
plane to the quadric surface,

(b) Prove that the maximum shearing stress at a point is
equal to one-half the difference between greatest and
least normal stresses and acts on the plane that bisects
the angle between the directions of the largest and
smallest principal stresses. S

5064/1,400/KD/1643 2

7.

Write down the stress-strain relations for general elastic
medium from Hooke's law and then derive those for an
orthotropic elastic solid medium.

SECTION-IV
Derive the Beltrami-Michell compatibility equations:

(@) Derive the equation of motion for a homogeneous
isotropic elastic solid.

(b) If Poisson's ratio ¢ = 1/2, then show that

”Wg vf.l.uoo.v k“oo. .@"mm =0

and from Hooke's law deduce that

H

5064/1,400/KD/1643 3
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MDQ/D-16 5072

INTEGRAL EQUATIONS
Paper : MM-505 (Opt. i)

Time : Three Hours] [Maximum Marks : 80

Note : Attempt one question from each of the Unit I to V.
Unit-V is compulsory. All questions carry equal marks.

UNIT-1
1. Find and verify the eigenvalues and eigenfunctions of the
Fredholm integral equation

1
g(s)=f()+A .—o (s+1) g(t) dr.

Deduce its resolvent kernel and verify the solution obtained.
16

2. (a) Show that the Fredholm integral equation

g(s)=f(s)+ 4% sin (s+1) g(t) dt

cannot have a unique solution. Give example functions
f(s) when integral equation possesses (i) no solution,
(ii) infinitely many solutions. 8

(b) Use example to explain the approximate method
for solving an integral equation with inseparable
kernel. 8

5072/1,700/KD/1907 [PTO.
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UNIT-II

3. (a) Use succesive approximation method to solve
1
%Euiy% (1-3st) g(1) d.
0
Deduce the resolvent kernel. 6
(b) Prove the absolute and uniform convergence of
resolvent kernel I'(s, #; A) and show that it satisfies the
Fredholm integral equation
[Gs, £, W=K(s, +h [ Tls, x DK, 1 dx. 10
4. State and prove Fredholm's third theorem. 16
UNIT-II1
5. State and prove Hilbert-Schmidt theorem. 16
6. Derive the expansion of symmetric kernel into a bilinear
form. Explain the validity of this bilinear form. 16
UNIT-1V
7. Derive the procedure to solve the integral equation
\@u% |_.m.mc§. 0<o<l,
a [h(s)=h(®)]
where A(?) is a strictly increasing and differentiable function
in (a, b) such that A'() # 0. Use this procedure to solve the
integral equation
x@u.ﬂ 1 g)dt, 0La<s<bs<m
a )\oo%vloom@v
16
5072/1,700/KD/1907 2

8. (a) Derive Poincare-Bertrand transformation formula. 8
(b) Explain the method of solving Cauchy-type singular
integral equations for closed contour. 8
UNIT-V
(Compulsory Question)
9. (a) Explain, with example, the integral equation of
convolution type.
(b) When a kernel K(s, #) becomes an L,-function ?
(¢) Find the eigenfunction of the kernel K(s, ) = &
for s, t € [a b].
(d) Define Neumann series alongwith the terms involved.
(e) State Fredholm's second theorem.
(f) Define completely continuous operator. memE with
an example.
(g) Define Holder condition and use an example function
to explain Holder continuity.
(h) Explain the transformation of
“oods ¢ g(t)dt " “ ds
._.o Ju—s?o Vst - ._.o WCV&.—N ,\?I@QID.
5072/1,700/KD/1907 3
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OMDQ/D-16 5135

COMPUTER APPLICATIONS IN BUSINESS
Paper : MC-301

Time : Three Hours] [Maximum Marks : 50

Note :

AN

Attempt five questions in all. Question No. 1 is
compulsory. Attempt any four questions out of remaining
Seven Questions.

Fo o I % S Ay W wen 1 sfEd R
I WE Y W W R W WA % SW i

Compulsory Question ( @™ Wy=)

1. Answer the following questions in brief:

(a)
(b)
(©)
d
(e)
®

Explain the purpose of CU in a digital computer system.
Explain change case features of a word processor.
How fuzzy logic is different from binary logic?
Explain any three services of Internet.

What is World Wide Web (WWW)?

What are the main uses of video conferencing in
business? (6x3=18)

frafafaa wwAf @ W8w ¥ W difww:
(%) & fefem Fvger yomelt § €Ly, (CU) & 39l

Ea ikt

(@) TF T YW & O $Y B F GEIEU
(M wit dffr TR s | fFg TR s 82
5135/300/KD/701/Trans. [P.T.O.
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(F) g2t ®1 fpgl d 9aiei & gEeE
(¥) o8 9T A9 (WWW) =1 22
(9) =R ¥ Hifed w=fEn & g@ S ;@ 2

What is Computer and explain in detail about the scope and
types of computer? 8

FIR T T T FER H HELT G TR b IR o
fowrR | wwgmEwl

What is Output Device? Explain in detail about the
commonly used output devices. 8

ﬁa@ﬁ@gﬁﬁwvﬁﬁ%ﬂﬁmﬁﬁaﬁmg
% dR W fawr ¥ THamRy

What is Software? Differentiate between system software and
application software. 8

T F1 8? fawy 9iedm au Teieyd |iRas
H 9 R T Hifwu)

What is Database? How can you generate queries and reports
in any DBMS you know? 8

TREE F 7 AN FTH WEE # frdt S
(DBMS) ¥ 7@t den o @ &1 T&ha 82

What is Information Technology (IT)? Discuss five
applications of IT in business. 8

o @kAE (IT) #0372 =R WA & uiw
ST H == Hiw

5135/300/KD/701 2

Ql

What do you mean by Transmission media in computer
networks? Explain various guided media in detail, 8

FPR Aeam H JOfavm dfewm & ARk H e A
T 7 fafrm fifm difem = fawm @ wwem

(a) What do you mean by Extranet? Differentiate between
intranet and extranet? 4

(b) Discuss page set up features of a Word processor. 4

(F) TRIAE ¥ Y T GHEA B2 TTHE qUl TREME
F A" IRR TR Hifeu

(@) TF o€ WEW & U9 W2 39 B FH == Fifom

5135/300/KD/701 3
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OMDQ/D-16 5138

FINANCIAL INSTITUTIONS AND MARKETS
Paper—-MC-304

Time : Three Hours] [Maximum Marks : 80
Note : Attempt five questions in all. The Q. No. 1 is compulsory.

e : F;F UrE T B SR ARQ W9 o 1 e R

Compulsory Question ( 31fa™ w9v)

1.  Short answer type questions.
(a) Primary Market.
(b) Non-Banking financial entities.
(c) Characteristics of Indian Money Market.
(d) Gitt-edged market.
(e) Types of Speculators.
(f) Insider Trading.
(g) SEBI guidelines for issue of commercial paper.
(h)y ICICL
(i) Classification of merchant bankers.
(3) Structure of mutual fund. (4%x10=40)
NREESHR L]
(%) mafeF aem
(@) - faetg geard)
(1) 9IRAE gE 9NR $1 fagivand)
(9) Wafaq SR

5138/200/KD/962 [P.T.O.



(T) G & TR

() HFEht MR

(B) Fffw TR % fau 9t % fn-f
(¥) 9 denfier /@ wd fraw
(%) = S w1 R

(3) YREfEd HE H A

Briefly discuss the innovative financial instruments offered
by the corporates and financial institutions that have emerged
in the Indian Financial System in recent years. 10

aReta o yomett § e a9 § wufaal aen faeia deenst
TR g fopn Y WA fam wws @ dfaa it wifsw

Discuss the characteristics and problems in Indian money
market. 10

IR g AR A faeamel e wwemsl ® WRod
ERIHY
What do you understand by Capital market ? Describe recent

developments that have taken place in capital market of India.
10

It R @ @ w0 gEe €2 9Ra Yo A A aduE
wa § St Hewyel faem e ¥ S SviE w0
“Development banks are concentrating on disbursement rather
than the development function.”Analyse the statement
critically. 10
“farm dv faem wE w1 wE SEEm W s 2
FIT F AHAEAHE faverer F

5138/200/KD/962 2

How far SEBI has been successful in regulating Indian capital
market and protecting the interest of investors ? 10

TR ot AR ) frafe w0 qn et @ R
T F@ § I FE 9w 9Fa W@ 87

What do you understand by Merchant Banking? Examine the
role of a Merchant-Banker in the corporate enterprises. 10

O ST ¥ e F wwed ¥ O I A S
¥ | ofgw # fga=m w1

Discuss the designing, marketing and launching of mutual
funds schemes. 10

T iy =M B T, fGuuR qen gEsT 6
Fd = =R it

5138/200/KD/962 3



6. Sometimes, Marketing Research yields errors in the results. Roll No. ..coovvviirienenn Total Pages : 4
What can be various types of errors that a researcher can
make ? How can these be minimized ? WH n—N

MDQ/D-16
Ff FAR, faqom iy % wiom Jfegel e & o OMDQ/D-1

TN B " At fafam veR w5 gfet g €2 = gAaw Z»wwﬂﬁﬂwcmmm\%om
HY fFar s a1 & 2
Time : Three Hours] [Maximum Marks : 80
7. (a) How can literature review be classified and analysed to
find research gap ? Note : Attempt five questions in all. First question is compulsory
MY S B T FH B o i gedtan w SR and the answer to each subpart (carrying 4 marks each)
FifFa T SHeR faveroor R S wEA 22 should not exceed half page. Q. Nos. 2 to 8 carry

(b) Explain the common pitfalls in literature review. 10 marks each.

s The § G TEEE %) TR A ;. w/W ot YA ® W AMWY W gem | sfEd 2
TOH YIF 9 (4 3F FAF) 1 T SHH SW MY TS
8. Write short notes on the following : H ofysh 1 T B AR WA dew 2 @ 8, ToE
frefefan w wfm He e 10 3% F1 2
(@) Ordinal and interval scales.
FUETEF a9 Fad ) 1. Compulsory Question (3@ wyT)
(b) Field survey. (i) Differentiate between Market Research and Marketing
3 gaam) Research.

TR Iy e fauvm vy % 9 ST waRu
(1)) What are the research questions in product research ?

I WY H MY WY ¥ B R 2

(iii) Collecting data from Internet is primary data collection ?

Yes/No. Give reasons.
3 W I THY FE WUfhw T A B s
FHRO TARCY

5142/150/KD/703 4 5142/150/KD/703/Trans. [PT.O.



(iv) In what conditions is observation used as a method of
data collection ?

e feafeal & feor =) = o #t & oty =
WE ST fF o § 2

(v) Is convenience sampling an unscientific method of
sampling ? Give reasons.

w1 IIgF W9, e # uE oAt fafy
% 2 =R TR

(vi) What do you mean by in-depth interview ?
TE TR § s o ooy § 2

(vii) Make statement to know preference of soft drinks using
nominal and ratio scales.

g W H FlEa 9@ e @ fog, Aifhe qon
I TN F ST gR UE weR T iR

(viii) What do you mean by open ended questions?
THRIR T 9 o | o # 2

(ix) What are disguised questions ? _
T W O E ? ,

(x) Name the software that can be used for analysing the
qualitative data.

TR el ® faveww § v fRg o T e
G & AW SqEa

2. Suppose you have to collect data on the consumer preference
of smart phones. What are various steps that you will follow
to meet your research objectives ?
HA TR e HF HI SIHET T6E F HFFS THT A
§ 2 oMW o Wiy ReE T W FW F o T fafe
FEE T ST

5142/150/KD/703 2

3.

With the help of suitable example(s), explain the following

concepts
frafafea aronst =t S9g IR # TRE W WHIRT
(a) Research problem.
RICER-RE]
(b) Objectives of Research.

wmy ® I

(c) Hypothesis of Research.

Wy H 9w
(d) Alternate Hypothesis.

Yfeas aReEe

As a marketing manager, you are facing competition from
changing consumer preference towards purchase from mobile
applications. What research design will you use, and why ?
Give reasons.

TH AT BA9R & dR W, 319 Haes Tedy 51 Tl
F Y TEe IUERT SFIRR § wiaeayt & A 7R ® 2
3 feg MY TUHRT H ST W AWM T ? HRO

ERIE

Define Sampling. What are various techniques of
sampling ?

sfoeem #1 wfan samw wheew w5 fafa= g
7 ¥ 2

5142/150/KD/703 3 [PTO.
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OMDQ/D-16 5143

ADVERTISING MANAGEMENT
Paper : MC-309

Time : Three Hours] . [Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 is
compulsory.

Az . W o T ® S Ay W gen 1 afEd R
1. Compulsory Question ( 3Fard Wy )

Answer the following in brief :
(a) What is the importance of Advertising ? 4

(b) What is the influence of Advertising on Consumer
price ?

(¢) Explain DAGMAR Approach.

(d) What is Objective and Task methods ?

(e) Discuss the role of Logo in Advertising.

(f) Write the essentials of a good appeal.

(g) Discus the functions of an Ad agency.

(h) What are the principles of Media scheduling ?

(i) Why is it necessary to test Advertsing ?

(j) What is ad-client relationship ?

frafafes =1 waw # s T

(%) faa w1 T HEE ®7

(@) S99 ged W TR w1 Fn ysE g @7
5143/200/KD/704/Trans. [P.T.O.
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(M BATSNTATIR. (DAGMAR) Ifesion %! ToEmRul
(W) =T a wE fafml s &2

(%) fomm & o W gf oSS wf

(F) & =S erda w1 R fafauy

(@) T T @ oW T wh

(%) difemn gma-faulor € s fagia &2

(7)) faarm #1 vdem # = srevas 20

(3) o -Tes g9y F7 8?

“Consumers are highly influenced by the Advertising.”

Elucidate. Does advertising improve the standard of living of
community or destroy ? 14

“ZovER faame @ erafus wwifa B ¥ wr= #ifm
w1 fomm TRE # SieA-wR § gER w5 2 d S9
T FE@ 7

Is there any ethics in advertising ? Justify. 14

F faam ¥ w5 A @6 27 fag Fifww

What are the different elements of a typical advertising
copy ? Explain in detail. 14

ww fafte fammm wfifafy & B oo 7 £ fa=r
T gugREu)

Describe Print Media. Also discuss its merits and demerits.
e difem =1 avf7 FfQ @ T 9 IS Y o ==
Eaisid

5143/200/KD/704 2

Discuss various issues involved in Media planning. You have
to launch a new luxury car in the market, how would you
go ahead with the exercise of media planning ? 14

Hifem framem o wite fafas g =t o=t =ifvw am
fF ATF TR § T A FR oG ST ¢, 99 oY
Hifem framm #1 FHRERE F Y AW d@E?

What is Advertising agency ? Discuss the kind of relationship
Advertising agencies are having with clients. 14

faame Wi w7 22 foue i ® ueel @ 9w e
WE & TaY B €, w9 Hifou

“While measuring advertising effectiveness, number of
problems are ecountered.” Elucidate. 14

“faerE FT Y9ERiG S HI9d 9HT e WEERA &
TEF HA YEA 1" faEEw Sifs

5143/200/KD/704 3
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OMDQ/D-16 5146

RETAIL MANAGEMENT
Paper : MC-312

Time : Three Hours] [Maximum Marks : 80

Note :

e

Attempt five questions in all. Question No. 1 comprising
of 10 short questions having 4 marks each is compulsory
and the answer to each question should not exceed half
page. Attempt any four questions out of remaining seven
questions having 10 marks each.

FA e I ® I AU G A 1 S 4 R 10
o ye H faafa ® 9% ofed iR v o W
F IW MY TS | TR Gl T =Y TRRT T T
A ¥ FE WX YA RINC, TOF TH < FF FH T

Compulsory Question ( 37fard wev)

1. Define the following :

(a)
(b)
(©)
(d)
(e)
(H)
(2)
(h)
(1)
Q)

Retailing.

Store location.

Service quality dimension.

IT in retailing.

Energy management.

Retail audit.

Retail finance.

Store operation management.
Organisational patterns in retailing.

Human resource management in retailing.

5146/200/KD/964 [P.T.O.



4.

frfafen =1 ofenfia Fifvg -
() HHF HTEE
(@) ©r feufa

(7T) ¥ O & AEH
(9) HE FaaE § TR
(T) ot gaeA

(9) B FRT

() He fom

(¥) ©R fraraas yevm
() T 99 H YIS B9

() TR IaaE o OgFg JEYE TS|

What are the issues facing Indian Retailers ? How can you
overcome these issues ?

TRATT HEat fapasl & 9 S-SR 9 1R 87 T
qY HY TH F GF B?

Critically explain the present scenario of retail business.

TEH TR FH FA9H UNGed H SAAEAREEs SR
sl

Why is information technology essential to a retailer?

e foma % fau gum owdet = amvew 2

5146/200/KD/964 2

What are the factors that a retailer needs to take into account
while choosing a layout for a retail store?

e BN F e 1 g ® fou wew famar w5
fFa-fF wei 1 o A e #owew 2

Explain the reasons for the success of GAPS as a retail model.

TQILTH. FEH Hed # TE & HRON F IUN
FIfST

Discuss the elements of service quality.

a1 uEE % fafy= qel w5 Icomm Fifsu

Explain different theories of retailing.

wIH & fafa=s fogia w1 9ol eifm

5146/200/KD/964 3
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OMDQ/D-16 5151

HUMAN RESOURCE DEVELOPMENT
Paper : MC-317

Time : Three Hours] [Maximum Marks : 80

Note : First question is compulsory. Attempt any four questions
out of remaining seven (7) questions.

AT : T FEw | AfEd )99 9@ g A 9 fRE 9 R w9l
= IW gy

Compulsory Question
(afrard uw)

1. Answer to following should not exceed half page :
(a) Career Development.
(b) Employee Counselling.
(¢) Need for HRD.
(d) Tacit knowledge.
(e¢) Orientation.
() Role conflict
(g) Distinguish between Training and Development.
(h) Person analysis.
(1) Job rotation.

(j) Organisation health. (10x4=40)

5151/650/KD/1675/Trans. [P.T.O.



fefafen v&s w oy TR 7 ¥ AR fafe .
(F) Bfer famm)

(@) FH9r Tamyl]

() TRF. (HRD) # smvasan
(%) Frfa 3

(T) Teem|

() e zwam)
@vn@msmﬁmﬂa%%mﬁﬂﬂﬁ_
(%) =afm fervamon)

() F14 Wym

(3) |13 e

Discuss the qualities, role and responsibilities of HRD
manager. 10

THAREL (HRD) Yoo 3 Tof, e aon et w7
== Hifg|

What is Organisational Effectiveness ? How can it be
achieved ? Also discuss the obstacles to organisational
effectiveness. 10

%ﬂﬂﬁuﬁqﬁaﬂwwﬁ%ﬂgﬁgﬁg
wwﬁaﬂﬁﬂwﬁﬂﬁmﬁmﬂmﬂ%&ﬂﬂ@e

What is the strategic relevance of HRD ? Discuss the different
HRD strategies that can be applied by service sector
organisations. 10

5151/650/KD/1675 2

TEAE. (HRD) 1 TRfF wew s 27 oy 8 %
gﬂdgﬂﬂﬂﬂﬂ%gﬂﬁﬁz@. (HRD)
WA st #ifg

Explain the meaning and importance of Learning for an
Organisation. Also explain the Reinforcement theory of
Learning. 10

ﬁﬂﬁ%@m@ﬁ»%ﬁmﬁﬁﬂﬁﬂﬂﬁ_%@»
% Yaeitw fagia =) it a9z

What is Role and Role Analysis ? Discuss the importance of
Role analysis and techniques used for Role analysis. 10

%ﬁmﬁ%ﬁgﬁﬁwwmﬂﬁ@iﬂ%ﬁﬂ
mﬁﬁﬁﬂﬂ«%&%@ﬂﬁmﬂﬂﬁﬁmﬂﬂﬂﬁ_

Critically examine different off-the-job training methods. 10
fafe= sifew-3-ite sferor fafirt = AT H Tt
HifTg

Discuss the various major decisions that are made while
designing a training and development programme. 10

ﬁﬂ@ﬁggﬁﬁnﬂﬂﬂﬂ&ﬁﬁg
ﬂlmﬂﬂ?ﬂﬁ@gﬁﬂﬁﬁe

5151/650/KD/1675 3



7.  Write short notes on the following :
frafafas w Sfva feufrer fafa .
(a) Multimedia technologies.
TeHifea e
(b) Broadband.
FEI=T (Broadband)!

8. Explain the following :
frefafas =1 =ren #ifsg
(a) Homepage.
HEEE]
(b) Sitemap.

HrEeHy)

5211/4,400/KD/1327 4
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MDQ/D-16 5211

COMPUTER APPLICATIONS IN BUSINESS
Paper — MC-301

Time : Three Hours] [Maximum Marks : 50

Note : Attempt five questions in all. Question No. 1 is compulsory.
Rest of the 7 questions answers four questions carry
8 marks each.

e : F/A UE Y H IW AW g " | ostEd R
THF 7 T R W 4 T P IW AU TEE 9
8 3% F B

Compulsory Question
(frard wes)

1. Answer the following in about 150 words. Each question
carries 3 marks.

frafafed weai & SW o 150 Y= ° e Tow
T 3 3F F: R
(1) Differentiate between digital and analogue.
fefea it W= (Analogue)  #9 3=R FaEw
(i) What are wireless media used for networking ?
gk B fou FH-§ gEww dfewm swue fwg
w2 .

5211/4,400/KD/1327/Trans. [PTO.



(iii) Write the layers in TCP/IP.
AHd. (TCPyemER. (1P) § Wl & IR § fora

(iv) What is video conferencing ? How can a user do video

conferencing ?
e HH T F1 & 2 SUATE F9 e HpfE
F HFA T ?
(v) What do you mean by : Pixel. Andriod ?
foerder, weiae 9 o = sfawm # 2
(vi) Explain the advantages of a relational database.

T HITRF (relational) TIET & T3 FT THATY

What do you mean by operating system ? What role does
it play in a computer system ? What are some of the open

source systems software available to the users ?

ST yonelt | R 70 AfagE € 7 77 FHopE yomet
H 0 oqfrw fir @ 2 ST # $R-¥ FB open
source JUTE WIWRHTR IqeTey B ?

What is a wordprocessor software ? What all operations
can be done in a wordprocessor ? What are various

wordprocessor software available for the users ?
T HHT FRTR 2 2 FE-H GR SATEE 9F WEW
# fFy 1 w=d € ? ST ® o sR-9 fafas o

SR e § 2

5211/4,400/KD/1327 2

Define database. What are some of the computer software

used for managing the database in the organizations ?
TR HI NI FIHU TF TTT ¥ IR B YTEF
% fou *F 9 B9 X SRR ST R 9R ¥ 2

Explain the following :
(a) Half duplex.

(b) URL.

(c) www.

(d) WAN.
Fefafea =1 =rem mﬂ.ﬂﬂ :
(a) BF Mjmﬁ (Halt duplex)!
(b) URL.

{(c) www.

(d) WAN.

What are various toologies available for networking of
computers ? How do the Systems Administrators decide on
the type of topology to be used for their organization ?
Explain with the help of suitable examples.

FESR FT A2AET & AU svere fafae St = E 0
fowen W #9097 7@ a7 fF Y ¥R 9 e
3 9MeA F fou syarh @ 2

5211/4,400/KD/1327 3 [PTO.
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(F) THF @, JAER SR 9

(@) @ F F A AR R T sfuwan it MDQ/D-16 5212
. N ADVANCED FINANCIAL MANAGEMENT
Mwaﬁﬂﬁﬂaﬂ%@ua&ﬁgﬂ (ii) 9fa Paper : MC.302
FNIR A&

Time : Three Hours] [Maximum Marks : 80

7. Explain the concepts of horizontal, vertical and conglomerate

. Note : Question No. 1 is compulsory and each part of it carries
merger with examples. What are reasons for merger and Q prsory P

4 marks. And the candidates are to attempt any four

takeover ? questions from the remaining seven questions carrying
AT, Sed qe T THE F UROnSH F I wred 14 marks each.
TR THHW qo ARWEo & T FRO §7 M : WA T | A A SR W&F 90 4 3 H
9 §E g ¥ ¥ R w e owe s e, v
8. (a) Describe steps in Financial Restructuring. Uvq 14 37F FT Bl
fodta g & = @ 9ol wife
(b) Write a note on 'Financial Management of Sick Units'. Compulsory Question
'R TERE % ey W T e fafem) (fEE uww)

1. Explain the following upto 150 words each :
frefafen v am & @ 150 v o wHEmRy

(a) Differentiate between Operating leverage and Financial
leverage.

T Ihe qen foeig SHem # o o WAy
(b) Broad areas of Corporate restructuring.

FRAE TEET & Fe &7
(c) Features of Optimum capital structure.

TR IS HE H favwand)
(d) Packing order hypothesis.

TEFA g

5212/3,500/KD/1353 4 5212/3,500/KD/1353/Trans. [P.T.O.



S.

(e) Reorganisation of capital.
ST w1 g

(f) Takeover defences.
femee Al

Explain and illustrate M-M dividend model. Do you find
that the model is applicable in reality ? Give limitations.

ﬂ.ﬂ@ﬁﬂﬂwﬂﬂ%mﬁﬁﬂgﬂﬂe
ﬂ%iw@ﬁ&ﬁmﬁﬂﬂ_mmﬁ%%ww
9! 9S4y

(a) Explain any five determinants of capital structure.
ISt W % R uter fruRe w1 gmemw

(b) What is home-made leverage ? Explain its relevance in
M.M. theory.
T& fafia s<iem w0 82 wrum, fogia o soe grefEar
IR

What is an indifference point in the EBIT-EPS analysis ?
How would you compute it ? Illustrate your answer.

SelemiA-Sfiee farvelom (EBIT-EPS) ¥ wemwivar fiig
27 AT TH T Y W 5 TR F AR F

(a) What is financial risk ? How does it differ from business
risk ?

faita sifaw =0 e 22 o =i Sifey 9 feg
¥R = 22

5212/3,500/KD/1353 2

(b) Explain the concept of buy-back of shares. What is
objective behind it ?

I F A9E-TT wOUROT H GUERy T U
T I ??

Poor company is being acquired by Healthy company on a
share exchange basis. Their selected data are as follows :

Healthy Poor
Profit after tax (Rs. lakh) 56 21
No. of shares (in lakh) 10 8.4
Earning per share (Rs.) 5.6 2.5
Price earning ratio 12.5 7.5

Determine

(@) Pre-merger, market value per share.

(b) The maximum exchange ratio Healthy Company should
offer without the dilution of (i) EPS (i) Market value
per share.

FE HEH H W KT G OWR AT SR W

Sfuren F fomn T ST TP sl @ weR €.

i) HEY

F I A (Fo TG H) 56 21

I Ft @ (e §) 10 8.4
T IR e (Bo H) 5.6 2.5
Iea A9 ST 12.5 7.5

5212/3,500/KD/1353 3 [PTO.
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MDQ/D-16 5214
FINANCIAL INSTITUTIONS AND MARKETS
Paper-MC-304
Time : Three Hours] [Maximum Marks : 80
Note : Attempt five questions in all, Including, Question No. I,
which is compulsory.
A . T gen 1 afad yR ofew we o WA ® IW

s

Compulsory Question ( 3R W9 )

1.  Attempt all the following Questions in brief about 150 words

for each :

(a) Discuss meaning of financial system.

(b) What is secondary market ?

(c) Explain role of ICICI

(d) What is Merchant Banking ?

(e) Explain concept of Mutual Funds

(f) State objectives of SEBI. (6x4=24)

frefafas &% 9w &1 989 ° @ 150 IR H IW
s

(%) fo<ia womelt &1 ored wwEEW

(@) f5faw TR T 22

(M) s (ICICI) #t fiFw w1 THgmRul
(7) T SfFT F 2

5214/3,100/KD/1349/Trans. [P.T.O.



(¥) ¥=a wgH ¥ YR FI THIEU
() Wt (SEBI) % 3e¥d =y

State the features of Indian Money market. Explain the
instruments that are dealt in money market. 14

WA G SR &1 e TaEn g aem § O fee
WM S SUHIO I IR

Write a comprehensive note on Govt. securities market. 14

TR gfiyfa aeR | =mE 9@ fafa

Discuss the powers of SEBI. Explain the guidelines issued by
SEBI for the issue of Bonus shares. 14

et F1 vifEE w5 =l ST e T e T e $
fem wat g1 o FKen-fee = gwemE

What is SIDBI ? Discuss the role of SIDBI in accelerating the
industrial growth in India. 14

faedt (SIDBI) #n %7 9ra o ol afs & ¥ &
faest =t gfys w1 ==t wfom

Describe the services provided by Merchant Bankers in India.
Also discuss the Govt. Policy on Merchant Banking services.
14

IR H W SR g WEW W S el Qaed w1 g
FIY T A Qe W wER-AfE w1 o ==
Eqii

5214/3,100/KD/1349 2

Give a critical appraisal of Mutual Fund Schemes in India.

14
WA H F[Ed T AoMIel H gen wHenr i
Explain the following :
(a) Role of Financial system in Economic Development.
(b) Recent developments in Indian Capital Market.
(7+7=14)

frefafes = R
(F) et fopm & fodfta yomelt =1 syfrenn)
(@) e gSft IR | Faen aftEdq|

5214/3,100/KD/1349 3



7. How can the qualitative data collected from the sample
analysed for drawing inferences ? Explain with the help of
suitable examples.

AR W ® foe fawifm T § | e siwel
Y THhE fFa S € 2

8.  Write short notes on the following :
frafafaa w dfia e fafe .
(a) Non-sampling errors.
R-wfeeem 3
(b) Observation.

FFAFA|

5218/3,100/KD/1271 4
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MDQ/D-16 5218

MARKETING RESEARCH
Paper — MC-308

Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 is compulsory
and the answer to each subpart (carrying 4 marks each)
should not exceed 150 words. Q. Nos. 2 to 8 carry 10
marks each.

Az : o e T B IR G g FE 1 e § qen
YAF WM (4 FF) FIW 150 VK TF ¥ T A6
YT HE 2 ¥ 8 YA 10 3fF a1 R

Compulsory Question
(afad uv )
1. () Why do marketers need to do marketing research ?
faqurt Y IR WY FE F AR A g 82

(i) Explain the meaning of research objectives and

hypothesis of research.
oY A A WY FY oo & Fd Y wHIRY
(iii) What are various sources of secondary data ?

fodras siteel & faf= o =0 & 2
5218/3,100/KD/1271/Trans. [P.T.O.



(iv) Explain the concept of Likert scale.
AGHE Thel I YROT HI AU

(v) How is sample size calculated for a finite population,

whose mean is known ?

wF ufifm sHEE, foaw 5 mer g@ &, ® fom
e STHER FT ARG w9 2 2

(vi) Is interview a part of survey method ? Explain with
the help of examples.

F WINTHR, Taem fafy =1 tF 9 § 2 See
e Ed g §HEE

What do you mean by research design ? What are various

types of research designs used in marketing research ?

My fesmeT @ svw = o ¥ 2 room iy F
faf=1 ywR % vy fesmew w1 & 2

Suppose that you have to collect the consumer attitude
towards online marketing from a city. What are various
sampling options that you can use to collect the data ?
Explain the merits and demerits of each of them.

A 56 sl TF we | ofiTens fauem # wfy Susireed
! Afgfn # siwe T FW@ B oW iR Ty w9
= fou fee fafm sfrees famedl o1 swaim o= w=d £ 2
Y% % 0 TE AW H of gHEmE

5218/3,100/KD/1271 2

4. Explain the process of collecting secondary literature for
research. How can a researcher draw meaningful inference
out of the same ?

Ty % fo fidftos wfew e w6 1 wfra & gaEmEu
forg o TF vy T 9 sedqel SR Y freee g
22

S.  What are various measurement scales used in marketing
research 7 With the help of an example, explain how a
researcher can collect the information using these scales.
foaaum vy & Wy fafe= woew SR Fn € 2 O SeE
F! HEEA W GHERT R FR @ wved @ e
ST g HFS THT FX FHA T ?

6. Explain the following types of questions :
frafafes vl & woAl 1 99eRT .

(a) Branching questions.
MWEA Y1)
(b) Double barrel questions.
IR R T
(c) Projection techniques.
AN qHATD |
(d) Probing questions.
a-gEaret g9l
5218/3,100/KD/1271 3 [PT.O.
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MDQ/D-16 5219

ADVERTISING MAN AGEMENT
Paper-MC-309

Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all, 1st question is compulsory.
M . F[| O T B IW AW W dew 1 e 2

Compulsory Question ( 31farl wy=)

1. Answer the following questions in brief, not exceeding 150
words :

(a) Discuss the nature of advertising.

(b) Can advertising create monopoly conditions ?
(¢) Define DAGMAR approach.

(d) What is the importance of slogan ?

(e) Write the essentials of a good ad-copy.

(f) What are the departments of an ad-agency.

Frefafea v & &9 & 150 = 9w ¥ s A

(%) foarm +1 ypfa W == S

(@) 7 oA T el g W oawe $2

(1) MR (DAGMAR) 3fiesior &1 wftafim sifsm)

(9) TEARA H1 ¥ Hew 22

(¥) & =h - & qot a9 7 87

() & fagmA ot & fawm wm-wm &
5219/3,400/KD/1344/Trans. [P.T.O.
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What is the role of advertising in communication process ?

Discuss with examples. 14

TR WA § YER &1 @ qfe 37 ISl gw ==
HifSC

What is the impact of advertising on consumers ? 14

IyviEne W AT & F q9E IEd €2

Define advertising budget. What factors do govern the size of
advertising budget ? 14

fIqT a9 #1 IR TRy A ae ® SRR W
FH-U FRE FEkE w1 82

What is headline ? Differentiate headline from slogan. Also
discuss the functions of headlines. 14

e 1 22 eoEA qO GONH B 99 S SORU
oo ® v # f == S

What are ad-appeals ? How would you classify advertising
appeals ? Also discuss the significant of such classification.
14

Te-aTfie T 87 o famr erdiell w1 P aufiga wON?
T i & "o & o w9 st

“There are number of factors affecting the selection of media.”
Elucidate. 14

“Hifem & =97 F TR FA I 9gd R FRE 21"
foa=m it

5219/3,400/KD/1344 2

Why it is necessary to test advertising ? Explain the methods
used in pre-testing advertising and post-testing advertising.
14
faare =1 The w = orEvEs €7 fam-gd whem
a1 famree wvEn wWew ¥ g el w0 aeEmE)

5219/3,400/KD/1344 3
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MDQ/D-16 5221

INTERNATIONAL MARKETING
Paper : MC-311

Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 is
compulsory. Attempt any four questions out of remaining
seven questions.

A ;. FF AT WF T WA e | e f Sy 7 v
¥ 9 ®E 9 ¥

Compulsory Question ( 31f+a™ w9T)

1. Write short note on :
(a) Competitive advantage.
(b) Characteristics of MNCs.
(c) Export management company.
(d) Role of advertising in international marketing.
(e) Price quotations.

(f) Differential pricing policy. (4x6=24)
g w ot e famar
(%) yfeeqai @)
(@) Jgus wmfE &t fav)
(M frafd vary e
5221/400/KD/1310 [P.T.O.



(%) s faoom ® fagem &1 sgfeen
(&) 77 ffam
(3) fovers qea Hfifa

“International marketing has become indispensable in the
economic development of developing country.” Comment
with respect to Indian scenario. 14

“fowmeier <Ol ® ot fawm W s fauom
I TEAVIF B W W B 9ME ® w=d § fooeh
F

Describe international product life-cycle. 14

FET IR Na9-9% 1 faeg=T #wi

Explain the various steps involved in international product
planning. 14

FiEE A faem & A= wfrs won =1 o
|

Explain Unified and Diversified Advertising strategy with
the help of suitable examples. ‘14

TFHF R s e oeRE = el ST
I[EI F A A H)

Elaborate the objectives and importance of sales promotion
in foreign trade. 14

fara dags & Sevd adn wEw & faE=m s

5221/400/KD/1310 2

7. How international marketing operations are controlled? 14
g faqum fraet & $9 frafem fean s @2

8. Explain the difference between a market allocation system
and a mixed system. 14
TR foaer sgawn qon fafye sgaren & TR w W
F

5221/400/KD/1310 3
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MDQ/D-16 5223

RETAIL MANAGEMENT
Paper : MC-313

Time : Three Hours] [Maximum Marks : 80

Note :

Attempt 5 questions in all. Question No. 1 comprising of
six short answer questions having 4 marks each is
compulsory, the answer to each question should not
exceed 150 words. Attempt four questions out of the
remaining seven questions carrying 14 marks each.

FA U WA % IW AN v gem 1 ey 4
IF & W: dY SWE WA T, el R}, voE T
F SW AfwaH 150 IR H T G R 9
T H W FE R YA HINT, T&F 9T 14 31F H
2

1. Compulsory Question (JfaTd Y¥)

Define the following :

(a)
(b)
(©)
(d)
(e)
®

Retailing and Store location.

Service Quality Dimension.

IT in Retailing and Energy Management.
Retail Audit and Retail Finance.

Store Operation Management.

Human Resource Management in Retailing.

5223/400/KD/1464 [P.T.O.



frefefas #1 aRwfe Hif ;
(F) Fel =aaE IR @R fefi

(@) a1 UEE $ S|

(M FER FEaE H EA. iR e wEuE
() FEH FREW W g faml

(¥) @R fraraad waA|

(F) T EEE H HHE GENE YEuA

What are the issues facing Indian Retailers? How can you
overcome these issues?

W e famae & U ®E-eH 9 g ¥ T
A Y TEE T TF B2

Critically explain the present scenario of Retail business.

FEH FOR ® Fa9H URGYT FI NCASATE S
Hif)

Why is Information Technology essential to a retailer?

TR fawd ® B gE qeAde = smavas 27

What are the factors that a retailer needs to take into account
while choosing a layout for a Retail Store?

FEH TR & R &l T B AU geR fawar #
- e W v § T w wed 82

5223/400/KD/1464 2

Explain the reasons for the success of GAPS as a Retail
model.

LA TE FeF TEed & gFed F FHRUT H FUH
Fifs
Discuss the elements of Service Quality.

a1 e & faft= T w1 S wifsm

Explain different theories of Retailing.

TR eaE & fafi= fagial &1 9o wifsw

5223/400/KD/1464 3
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MDQ/D-16 5224

ENTREPRENEURSHIP DEVELOPMENT
Paper — MC-314

Time : Three Hours]) [Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 is compulsory.
Attempt any four questions out of remaining seven.

Az : we Ut W W e | e #1097 g 9
¥ FE WR T R

Compulsory Question
(tfard ue)
1. Write short note on :
e W dfea A fod
(i) Entrepreneur as innovator.
Jft oRNE & w9 H
(i) Distinction between Entrepreneur and Manager.
JTdl GO YEEE H S
(iii) Objectives of Entrepreneurial Development Programme.
iy fawm FrFET & /e
(iv) Prime Minister Rozgar Yojana (PMRY).
JYFEH YR FASET (PMRY)!
(v) Environmental Pollution.
FEE Y|
(vi) Utility of Project Report. (6x4=24)
weheq for &t st

5224/2,500/KD/1260 [PT.O.
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Explain various stress Management Techniques. 14

T Y w fafe= a1 smen

Discuss the factors affecting Entreprencurial growth. 14

ﬁﬂﬂﬂﬂﬂ&nﬁﬂm%m@@?ﬂqﬂ#ﬁmﬁﬁ._

Which factors should be taken into consideration during
market survey of small enterprise ? 14

TF T I F AGR GANT F 0T - wd
H o @A ey ?

Explain the various services provided why National Small
Industries Corporation Ltd (NSIC). 14

T o @ e # gR W W o Al R
et #1 Seem H

What do you mean by pollution standards and how they are
controlled ? 14

T WET W A e € qwn o 39 fraf fe
ST ® 2

What do you mean by personal protection equipments (PPEs)
for the safety at work places ? 14

F TRl W e 1 sfe ¥ W R 9 9 s
W T W I T GHIY 7

Do SWOT Analysis of a Soap Manufacturing Unit. 14
T VT T Frelt S T F1 SWOT favemor =3

5224/2,500/KD/1260 2



